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6�5�6 %�����#�����������
������
	��� �!����
	��%��	∗�
Χ� Θ5 

6�5�6�4 +
	��	��
	� Θ5 

6�5�6�1 %�	�
������
	��������	Ρ�����
�
	� Θ6 

6�5�Π %�	�
���
		�	��
������� Θ6 

6�5�Ο %�	�
	���	��
�����	� Θ6 

Χ�Χ �����������Η1�������������������Ε�Ι��Β���������Ε�ϑ� Κ: 

6�6�4 %�����
�����
	����������
	����∃��
	�
���
�
	� ΘΠ 

6�6�1 %�����#�����������
������
	������	� ΘΠ 

6�6�5 %�����#�����������
������
	��� �!����
	� ΘΠ 

6�6�5�4 +
	��	��
	� ΘΠ 

6�6�5�1 %�	�
������
	��������	� ΘΟ 

6�6�5�5 %�	������	� ΘΟ 

6�6�6 %�	�
���
		�	��
������� Θ≅ 

6�6�Π %�	�
	���	��
�����	� Θ≅ 

Χ�: ����������������������2���������?��������������������������

������ΚΚ 

6�Π�4 +�����∃����
���
����∗����� ΘΘ 

6�Π�1 %�	�
���
		�	��
������� 34 

6�Π�1�4 +
	�
���������	��������	� 34 

6�Π�1�1 +
	��	��
	� 31 

6�Π�5 %�	�
	���	��
�����	� 31 

������5���	����� Λ: 

: �Β����������������>��������������������������������	��>������Ε�

	��Φ�����������2�������������
�	��Φ�����������2������������Η2��=����Ι�

��������Β�����=ϑ� Λ< 

:�5 ��������������������	�����	�������������	������������� Λ< 

Π�4�4 +
	�
��
	��
���,�� 3≅ 

Π�4�1 %�	�
	���	����∗���
	� 33 

Π�4�1�4 +
	����,	� 33 

Π�4�1�1 (��	��������	���
��	��
�����	� 424 

Π�4�5 %�	���	����
��	�

�������
������
������	��� 425 

Π�4�5�4 +
	���Χ
	� 425 

Π�4�5�1 +
	������
	� 42Π 

Π�4�6 %�	���#
��
	����
	�
��
	���Ι	����∃	���� 42Π 
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Π�4�Π %�	�
�
�
��	����	�������	���
������������ 42Π 

:�3 �Β#∗,∃����!� ∗�∃0%� ���∃����!∀�����.,∗� �����7)�!#Ι����∃��&∀� ���������

&∀��)  �Μ� 54≅ 

Π�1�4 +
	����∃��
	�
���
�
	� 42Ο 

Π�1�1 %�	�
���
		�	���
���������� 42≅ 

Π�1�1�4 +����
������
�������∃���� 42≅ 

Π�1�1�1 %Χ���������
���
	���,�� 42≅ 

Π�1�1�5 ?
��
������� 42Θ 

Π�1�1�6 %���
	��	���� 42Θ 

Π�1�1�Π ������� 423 

:�Α �∃��!∀�Ν#∃∃���8&�∀�.�∗!#∃�� 554 

:�Χ ��∗ ∃)���∗�� 555 

:�: �#��∗�Ο�!∀�#�∃6!� #�!#∃∃#�#����∃����!∀������7)�!#�#�∃#��∀#%#� 553 

≅ �Β����������������>�������������������������	��>��������������

���Γ�Ε�	��Φ�����������2�������	����	����������Γ�����	��Φ�����������

2�� 55: 

≅�5 ����Β������Η��������1������Ι��Β�����	�����ϑ� 55≅ 

Ο�4�4 %�����
�����
	����������
	����∃��
	�
���
�
	� 44Ο 

Ο�4�1 %�����#�����������
������
	������	� 44Θ 

Ο�4�1�4 %������	�∀���∗� 44Θ 

Ο�4�1�1 %������	��������� 412 

Ο�4�5 %�����#�����������
������
	��� �!����
	� 414 

Ο�4�5�4 %��	∗�
Χ� 411 

Ο�4�5�1 %��	∗�
Χ��
���� 415 

Ο�4�5�5 +������
�!���� 416 

Ο�4�6 %�	�
���
		�	��
������� 41Π 

Ο�4�Π %�	�
	���	��
�����	� 41≅ 

≅�3 �����������Η1�������������������Ε�Ι��Β���������Ε�ϑ� 53Λ 

Ο�1�4 %�����
�����
	����������
	����∃��
	�
���
�
	� 452 

Ο�1�1 %�����#�����������
������
	������	� 454 

Ο�1�5 %�����#�����������
������
	��� �!����
	� 454 

Ο�1�5�4 +
	��	��
	� 454 

Ο�1�5�1 %�	�
������
	��������	� 454 
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Ο�1�5�5 %�	������	� 451 

Ο�1�6 %�	�
���
		�	��
������� 451 

Ο�1�Π %�	�
	���	��
�����	� 451 

≅�Α �������������	���2�����Η1�������Ι��Β�����	�����ϑ� 5ΑΑ 

Ο�5�4 %�����
�����
	����������
	����∃��
	�
���
�
	� 456 

Ο�5�1 %�����#�����������
������
	������	� 456 

Ο�5�5 %�����#�����������
������
	��� �!����
	� 45Π 

Ο�5�5�4 +
	��	��
	� 45Π 

Ο�5�5�1 %�	�
������
	��������	� 45Π 

Ο�5�5�5 %�	������	� 45Π 

Ο�5�6 %�	�
���
		�	��
������� 45Π 

Ο�5�Π %�	�
	���	��
�����	� 45Π 

≅�Χ ����������������������2���������?��������������������������

	��>��5Α≅ 

Ο�6�4 +
	����∃��
	�
���
�
	�
��
�	�#����
��	���∀������� 45Ο 

Ο�6�4�4 +���Ε
	�����
��	∗�
Χ��
�������
���������
����∃����� 45≅ 

Ο�6�1 +
	����∃��
	�
���
�
	�
��
�	�#����
��	���∀���������
��
�	����
����	� 45Θ 

Ο�6�5 %�	�
���
		�	��
�������
��
�	�#����
��	���∀���������
��
�	����
����	�� 462 

Ο�6�5�4 +�����������	��
	� 462 

Ο�6�5�1 +
	�
���������	��������	� 464 

Ο�6�5�5 %�	������	� 461 

Ο�6�5�6 %�	�
���
		�	��
��������������	������
����	�
��
�	�#����
��	�

��∀���������
�	����
����	� 466 

Ο�6�6 %�	�
	���	��
�����	� 46Ο 

������3���	����� 5:5 

< �Β����������������>���������������������������������������������

�������	����������Γ�����	��Φ��������������������������	��Φ������

�����2�� 5:Α 

�� ����>���	����������������	2���������	����� 5:Α 

��4 Ν�∃��	����������������Σ� 4ΠΠ 

��1 <∃�����
	��
�������������	������
	� 4ΠΟ 

<�5 ��������������	������Η���������Ι������������Β�����=ϑ� 5≅5 

≅�4�4 %�����
�����
	����������
	����∃��
	�
���
�
	� 4Ο1 
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≅�4�1 +
	������
	����
	�����	������
	� 4Ο5 

≅�4�5 <�
��
����� 4Ο6 

≅�4�6 %�	�
���
		�	��
������� 4ΟΠ 

≅�4�Π +
	������
	��
�����
	� 4ΟΟ 

≅�4�Π�4 +
	�
���
	��
���
�Χ�� 4ΟΘ 

≅�4�Ο −�����	���	� 4Ο3 

<�3 ��������Β������1���Η�������������	������Ι��Β�����	�����ϑ� 5≅Λ 

≅�1�4 %�����
�����
	������� 4≅2 

<�Α ���������1������Η�����>����������	��Ι���������Ε�ϑ� 5<5 

≅�5�4 %�����
�����
	������� 4≅4 

<�Χ ��2������Γ�����Η�������Ι��Β�����	�����ϑ� 5<3 

≅�6�4 %�����
�����
	������� 4≅1 

<�: ���	���������1��=����������Η1���>�9��Ι��Β�����	�����ϑ� 5<3 

≅�Π�4 %�����
�����
	������� 4≅5 

<�≅ ��	������������	�����Η�������Ι����2�����	�����ϑ� 5<Α 

≅�Ο�4 %�����
�����
	������� 4≅6 

<�< ������	������	���2�������=��Η����������������Β���Ι����2����

�	�����ϑ� 5<Χ 

≅�≅�4 %�����
�����
	������� 4≅6 

<�Κ ������	����������2�����Η��������Ι����2�����	�����ϑ� 5<: 

≅�Θ�4 %�����
�����
	������� 4≅Π 

<�Λ ������	�����������Η��������Ι����2�����	�����ϑ� 5<≅ 

≅�3�4 %�����
�����
	������� 4≅Ο 

<�54 ��1�����������	����������Η����2��;Ι���2����ϑ� 5<≅ 

≅�42�4 %�����
�����
	������� 4≅≅ 

≅�42�1 %�	�
���
		�	��
������� 4≅≅ 

≅�42�5 +
	������
	��
�����
	� 4≅Θ 

<�55 2��	������������������������Β�������Η����1����Ι����������

���2��2���ϑ� 5<Λ 

≅�44�4 %�����
�����
	������� 4Θ2 
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<�53 ���	�������������������Β�����Η����������Ι����1���Ε��

��������ϑ� 5Κ4 

≅�41�4 %�����
�����
	������� 4Θ4 

2� >���	����������������	2������������������ 5Κ5 

<�5Α �Β���������������������������	���������Η�������Ι����

	����	�ϑ� 5Κ3 

≅�45�4 %�����
�����
	������� 4Θ6 

≅�45�4�4 %�	���
�	��
�
����� 4Θ≅ 

≅�45�4�1 �����	���
����
�	��
���������� 4Θ≅ 

≅�45�1 %�	�
���
		�	��
������� 4ΘΘ 

≅�45�5 −�����	���	� 432 

≅�45�6 >����
��Χ�������
Χ

���
����� 434 

≅�45�6�4 (���
���
Χ

���
�������� 431 

≅�45�6�1 ?
�����
Χ

���
�������� 436 

≅�45�Π −�����	���	� 436 

<�5Χ �����1��������Β������Η�����	�����Ι�����������ϑ� 5Λ≅ 

≅�46�4 %�����
�����
	������� 43≅ 

≅�46�1 %�	�
���
		�	��
������� 43≅ 

≅�46�1�4 (����	��
�������4� 43≅ 

≅�46�1�1 (����	��
�������1� 43Θ 

�� ����>���	������Β��2����� 5ΛΛ 

<�5: �������������	���2�����Η1�������Ι��Β�����	�����ϑ� 5ΛΛ 

≅�4Π�4 %�����
�����
	���������������∃����
���
��� 433 

≅�4Π�1 %�����#�����������
������
	������	� 122 

≅�4Π�5 %�����#�����������
���� �!����
	� 124 

≅�4Π�5�4 +
	��	��
	� 124 

≅�4Π�5�1 +
	������
	� 124 

≅�4Π�6 %�	�
���
		�	��
������� 121 

≅�4Π�Π %�	�
	���	��
�����	� 125 

<�5≅ ������������ 34: 

≅�4Ο�4 +
	�����������
	� 12Ο 

≅�4Ο�4�4 +
	����
�	���	� 12Θ 

≅�4Ο�4�1 %�	�
���
		�	��
������� 123 

≅�4Ο�4�5 +���∃������
�
����� 142 
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≅�4Ο�4�6 +
	������
	��
�����
	������	
���������� 142 

≅�4Ο�4�Π +
	�����	������
	���
��	
������
Χ�����
����� 146 

≅�4Ο�1 +
	�
���
	��
���
�Χ�� 14Ο 

≅�4Ο�5 +�∀������� 14≅ 

≅�4Ο�6 −���
Χ������������������!������
����
����������
��
	�����	������
	� 143 

������Α���	����� 33Α 

Κ ������������ 33: 

2�2���������� 3Α5 

�������������� 3:Α 

��������������2�����>����2�����������	��������������	����;����

������������������	������������������� 3≅5 

�

�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
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�� ����������;� ���� �������� ��2��� ������� ��������

�������������������������=��
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Χ�
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	��
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�
������	�������
	��
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�����
�������������������

��	�	∃���� �
���������Φ−� ���	��� ���	
������
������
�� �
��
����� �
���������Φ−�����
���
�����

��
��
���
���
���������
��
	�
	����∃��
	��
��
	�����
�	��
���	�	��∗���	���������
�
������	����������
�����
��� �Ι������
�������
���
�
−�������
��∗���	�	�����	��
����	��
���#
��
��
����
�Χ
�
���	����
	�	���
���	����
����	��
�
��#
��
���
	�����	����
	�
���������	��∃�����
	�	���
��
	����∃��
	��∗����
	����∗���
	������
������
�	�	
�	��	�	�	�����	��%��
�
����
����
	�	���#
��
	�	����������
�������������
�
������������	��������������#��
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��
���������
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����
�
�
������	�	���
�
�	�
���
		�	�
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�
���	� 

�� ���� 	���
����� �
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� ��� ��	� 
����� �
� �
	� ����������	� 
��
�
������ ���� ����#
��
� ��
	����� ��
������� ��Χ∗�� 
��
�
����
� 
�� ��	��
� 
	����� ��� ������
��#
����� �������� �
������ ���
	� 	���
� �
	� 
	����∃��
	� ������������
	� �������
	� �� ���
	��	�	�∃������#����
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����#∃���∃∀���35�
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������ ���� ������� 	�
����
��
���� ��� �	� ��	�	�� ����	�	� ��� �������� ����������� ��� ����	�
�������	��� ����� 	�� �������� 
��� ������������ 	� ������ ������	����� ��	���	���� 	���
����	� �� �	���� �������� ������ ��� ��������� �	����	���� �
������ ������������ 	� ���������
�	������������������
������ ���	�������	���	������	�����������
�����	������������� ����	���
��� �	� ����	�� ��� �������	����� ��	�������� �� �	� ������������ �����  	���	������ 	� �!��
������������������������	�	� ����������	�	��∀���#∃%���������� �	����	���	����	�������
���&��
����� �&���	����� ����	� ��	����� �� ��	������� ���
� �	��!� 	��� 	������ �	�������
����������������	�����	
�&��
����∋(��� ���������)∗∗∃+��
�
,	� ������� ��� ���� ������ �� 	� ���	������ ���� ����	�	���� 	��� −����� ������&����� �� 	������
����	����� �������
���� ��� �������	� 	����	�� ���
� ��� 	������ �	���� �	� ������� !�� ������	� ��
����������	���
�
�
��������������� 	�����	������	����������	�	��.��������	��
����!�����������������	��
	�	���/	��������	������−��������������������������	#%�����������������&����	�	�����	��	���
�.��������	��������������������������������	������ ��
����������������	���	���0���	�.
��
���������	��������	���������	�����������	�	��������	������������	�1	���	�	����	�����
��	�����	������	���
�
,	� �������� ������/	�	� ��� ��	�&����� ��	
����� �	����	�� �� 	� ���� ���� ����� ����� ��� ����	�
����
��������	����	�����������	���	������	�������	1	���������	��������������������������
	�� ����	��� ��� �	� ����	�� ������������ ��−�� ��������� �� ���� ��������� ������������� �� ���
������	����
�
��6�6 �
��
��
���
���7��
�
���� ��	���������	���� ��������� ����.	� ���������������������� ����������.�����������������
��������������	1	������ ��	���������	������	������������	���	��� ����	���� ���.� ∋���	
�
�������+���������	���	��������!����	�	�	��������	�������	�������.	����������������	����
�������	� ��� ����� �	��� ��� ��.	������������ 
��� ��� ��	����� ���!�� ��� �������	� �	� �	���
����	��∋��������2∗+��
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��� ���!�� )� ���	�� ���������� �� ���� 	������ =�� ��	�����	�����
���
����������������������������������:��������������!���	�	�����������∋(��� ���������
)∗∗∃+��

�
∀��� �	�1�� ���	������ !�� 	������ 	���
��� �.����� ����	�� 
��� 	���	� ���
������������ �� 	��� �	� �	���	� ���
��.	���� ��� �	� ����	� �	��	��� ��� ����.�
���������������	������	��	�Β∗�∆����
���	���� 	��� ��� �����&����� �
�����
	�����.�����	���������	������	������
��	� 	���	� ��	��	�� 
��� �	� ����	�
��	����� ����	�� ∋������ #� ��� �	�
��	�	+�� �� �!� 	� �	����� ����	� ���	�
��	��	� ��� ������� ������	�� 
���
�������	� ��	����� ������	���� ∋������
)+����!���	�������.	�∋������9+�����
�&���� ��� �	� �	�1� �������	� �������
���������!�������7��������������
	��� ��� ���	�� �	��	��� ������ ������
	
����� �� �	� �	���	�� ,	� �	���	� ����
���� −���	� ��� ����� ���� �	����
���������� �.������ ��� ��	� ��� ����
�	�1�� ��� ��	�7� )∗∗)�� 
��� ��� �!�
��������	�	������	�������	���	��
��
�
�
�
������ ���%� ����%���
�,�−%�������
�
������������∗��
�����.��������
��
���������������
/����,�∋%�∗������
���.�������������
����
���
�
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������ ���� �	������� ��������� ������/	���� ��� ���� Χ� �	�1�� 	�	�	����� ��������	� ��� ���.�
∋�	�	
�
����������
+�
����	�����������/	����������������	��=���������	�1���0����	����	�
�	��	�� ��� ��� �	�� ��� �	� ������/	�� ��� �������� ∋�	�����	
� 
�+�� �� ��� ��� 	������ ��� �	Ε��
∋����	�	
�
�+��,	�����	�������.�!����������	�������	���	�	���������	�
�������	����.�
	����	�����	������������������	Ε���
�
8	��	����7	�	��	�������������������������������������������/	��Φ�
�
:,	� ��� �	Ε�� ∋(��� � ��� ����� )∗∗∃�� ��1	� )+�� ��� ������ #� ��� �	�1� ��� �	� ��	�	�� ��� �	�
����������	��	������	����	����������	�������	������	���	��	�����	�
�	���	�.�	���	���	��	�
������&��	�� 
��� �������.� ���� ��������� ��	�����.� ������������ ��� ���� 	������ �	����� ����
������)���9�����	���	�	���������!������	����	����!���!��������.���	�
����!�����������	��
�	���	����������������	���	��	�����������������������������	������	�.	��	���	�.	���	���
�������������������∋��������2)���−���2+��
�
:,	��	�1���������������#ΒΒ%�∋(��� ���������)∗∗∃���&���9):92����1	�Χ+�∋��������2)���−���
#+�����	�����������	��	�������������������	��	���������
����	�������.�����)∗∗#����
�	�����	��	�����������������������	���	��	�������	��,��������������������	��������)�
����	���	�	��
�
:�������	����������	�1��������.�����������9�����	���	�	�∋(��� ���������)∗∗∃��������=2��
==��Χ=���#)9+������������������/	�� 	����	����	���	��	�
����� 	�	����	������������	������
�������������������	������	����	������	���	�����.������	����	��������!����	�������.	�� ��
�� 	��������	�������&������������	��	���&����������∋��������2)���−���)���2+��
�
,����������������������	�1�������	��	�����∋��������29+��	�������
����	�	��	��������������	�
�	������.��	��∋������#%∗������)9∗���+����������
����	�	��	������	�����.�����	��∋������
%9������#9%���+��Γ�����	�.
���	��	����7	�	��
����	��������������	��	���
�������������
	���&������/��	����������������	���������
��������������������	�	������	������Β∗�����
,	� �	�1������������!�� �	�����	����������������� ���	��	��������	����� ��	�	�	������
�&����������	�
�	�����	��	�������	��
����	����	�����	������������	��������Β∗�����!��
�����������������
���������������	����	���������������	�����	����	����)9∗�����Γ	��!�
 �� 	� ���������Η�	������	�������������	��	���	���
����	������1	�������	�������������
Β#���� �� #)=����� ���� ��� ���.������ ���	�	� 
��� ��� ��� �	�� 	
����	� ����&���	� !�� ���
���!�����∃∗����� ��������.	�������	��������������� ����Η��������������������	��	���
��������������
�

�
������−��������∗+��������!�
�∗∗(�����
���0���
������.��������
���������
�
�

�� �� �!∋�� ��,�#!9� �� ��

∀!)��� ��9:� �&�)�� )1(!9� �+���� �&�)�� )1(!9� �+���� !���
1��(1��

+ �∃%�

�ΙΒ=�>;:
Β#Ι#�

����	�	
� #%∗� ))�=� �� %9�2� #9�9� �� Β#�∃� ϑ3�

�ΙΒ%�Κ�:
%9Ι9#�

�	�����	
� #2∗�Χ�
∋��	��+�

#)� #2�∃� #9%�2� %�2� #=� �� ��	�����	��

�Ι∗#�ΚΚ:
%ΧΙ#9�

�	�	
� #Β2� #%� )2� ##∃�%� #9� )#�=� Β=� Β9�

∃∗Ι#9=��Ι∗)�Λ8:
%ΒΙ�∃�

�	�	
� )#∗� #=� 2=� �� �� ��

∋�����
�	�����+�

ϑ3�

�Ι∗)�Λ(:
%%Ι#)�

�	�	
� )∗2� ##� 2∗� �� �� �� #)=� Β=�

�Ι�∗9�ΚΜ:
Β∗Ι)9�

�	�	
� )∗∗�
∋��	��+�

)∗� 9=� �� �� �� %9� Χ%�∋��	��+�

�Ι∗=�Λ�:
Β)�=�

�	�	
� )∗∗� #=� 2)� Β)� #9� )%� #∗∗� Β∗�
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�������������	�������	�����.��	���	�����&��������	���	��	���	���.�����	���	�����
����	����
�	��&���	��������.����&��������	������	���,	��&���	��������.��������	������������������	��
�!�������������	����	����������	����Β∗∆�������	����	�����������&��������	��	�1��
�
������	�&�������	����
���	�����������	����������� ����������������	��
�����������	������
��	��	�����������&����������	��������	��	�1���	����	�����	���	���������	���	������
�	����	��	�������	�������.��	�����.�� ���������	�	��	��������������������������������	��	�
�����������
�������	�	������	��������1�������	������������∋;��	�	���0	������)∗∗∃+��
�
���	�	� 
��� ������ ���� �	��	�  	����	��� ��� �����.���� ����������� ������ 	�������
������������ ������ ��−����	
������ ������ �	�1�����	������ �	����������������<���� �	���!��
�������� !�� ��� ��� ����/Ν���� ΟΟΟ� ∋Π7���� #Β%%+�� ���� ���� ���� ��� ���� ��� �����.�� �	��!�
�	�������� ��� �������	� �	��� �	� �	�1� ��� ����	� ���� �	���1	� ���	���	�	� ∋∀� ��� � ������
#ΒΒ)+�����������	�&�������	����
���	���� 	����������	���	�1�����	���	���������	���	��
��� ���� �	�������� ��� �	� 0�����1	Φ� >�����!���	� �� ������� �	� ;������ ,���	��� ∋;	������
#ΒΒ∃+��≅������������	��!��� 	����������	�������������������������������������	��
���
�	�� ���	�� ����� ��� ��	������� ���� ,	� ,?��	�	� �� ≅�����	� ���� 8	����� 	� �	� ��������	� ���
∀
��	�∋;��	�	��)∗∗%�+��
�
0��
�	��	���	�	���	��!���������	���	�������	�� �����������	���	�1�����
�������������
����
����� �	��� 	������ ���� �&������� �����	���	���� ��� ����	� �	�	�Θ���	� 	���&����� ���
	
�������	�����������������������	���������������.�����	���	� �������	�	����	����������
��� �	��� �����	��������	������� �����������∀���!�	���������� ���� �&�������	�������� ����
��	������������������!�� 	����	��!������	��������������� ��������������	������������:
�������	�.	���������&������
�
,	� ��������� ��� �������� �	���	��� ��� ���!�� �	� ������� ��	� 	��	� ���������	�� 	� ��−����� �����

����	��!��	��!����	�� 	��������	�����	�������	���	��������������������	����
�	������
������	��������	��� 	�����������	����
�����������	���� 	��	����������������/������	�
���
���� �������� 	��� �������� ������� ������� �� 	��� 	���	���� �� ����.��� �����	���� ��.
�
��������	��������������	��������/	�� ����������������	���	��� ������������	�� �	��	���	������
�&�����	����	�	����	��&���	�
�����������	��
�
�
����	� ����	� �����	���	����� ��� �	�	�Θ���� !�� �����  	����	�� ��� ���� �����.���� ����
��������� 	����� �� ����&� ��� 8	�	���7	� �� ��� ���:���� ��	������ �� 8	�	���7	�� ���� ������
��������	�����������	�����	������	���	��������������8	���Ο�	� �∋0	�	�:∀	������	������
������&+���0�	��	����	�∋Γ������&���	�;	����.	+��	��	����	�����>�	���∋5	�	�����	��4	�����
3�������	�+� �� 	� ���� ����
������ ��� �	� (
���	� 5	������� ∋∀	��� Ρ���/�� ���� 4	������ 4	�����
3�������	�+��	��8	������8	��;�	��∋�	�≅��	�����4	������4	�����3�����	�+���	�8	��;	��−��
∋∀	�	������4	�����3�������	�+���������
���	�>�	�1	��� 	�������	�	������	������������
0����������(	�	�����8 ������ >�����!���	��� �	�;��������� ��Σ������ ∋(��������������#ΒΒ9<�
;	������#ΒΒ∃<�;��	�	��)∗∗)����)∗∗9<�Ο�?Τ�/���������)∗∗%+��
�
��6�8�8 ���	����;����������	�����������
�
������ ���� �	��� 	����	��� ��� �	� ��	�	�� 	������� ���� �	� ���	� ����	� �� 	�	�	��� ���� ������
�	�	���	�����������������	������	������	����	�	�������
���	�	�����	�����	���������������
�� ���������  ���
������ �������� ��� �	����� �!�� �	���� �� ������������ ���!�� ���� ������
��	������	�� ���� 	� �������� �	��� 	����	��� ����� ����� ��������  ����������� 
��� �	� ������
������ ���������� ����������6�� ������� ��� ��	������	���� ����	�� �	� ��� �	� ���� ��� ��� �������
	��������∋(��� ���������)∗∗∃+��
�
�
����� ����� �������� 9Β� ������ ��� ����������� �� �	�	��������
���� ����� �	��	�����
���������	��	�����������/	���������	�	������/	��������������������������������∋����������
	���	�	� �� ����.� �� ��&�����+�� ������� ∋������	��� ��	�������.	�� �������	�+�� ����	� ��
	�	�	��� ���� �	������� ��������� ������/	����� ��� ������ ��� ������� ∋�������� �� ��	��	�
������	+� �� ��� ������ ��� ����	� ����� �.������ ∋������� ������� �� ������� ����	� �
���	� ��
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�������	���	���	�	+��∀������	
��������	��	������ ���������������	���������������
���
�����������	������	��	
�������	�������	��	����������������	����������
�
������ ���� )2� �.����	��� ��� �	� ��	�	� ���������	��� ���� 	� �	��� �	�	������  ��� ������
���������	����������������&����Φ�
�
��
�� ��������� ������ ∋=� �.����	��+�� 	��� ���������� �������� )9∗� ��� �� 9#∗� ��� ��
����������	���	��	����������	�
�������������������.�∋9+��������∋#+����������	�∋#+�����
�����	��� ���	�� ���� ��	���	���� ���� ��� ������� ������	�� �� �������	��� ������ ������������
�	������������	�������	�	�	����������1	�������
�	���9��������.�����������
��
�����#�
��� ������� �������� �� ��� ��−����� �.����	�� !�� ������� �
���	� ��� ��� �.����� �� ������	�	� ���
��	������
�
��
�� ��������� 

����� ∋#Β� �.����	��+�� 	��� ���������� �������� 2#=���� �� %Χ∗���� ��
����	���	��	����������	�
�������������������.�∋#Χ+��	����	����∋#+����������	�∋#+������
����� 	�	�	��� ������ ���	�� ���� 	����	���� ������� �� �	���	���� 	��� ��������� ������	��� ��
�������	���� �� �	��	���� �	��� ��� ���� �������  	�� ���	�� ���������� 	�� ����� ��	
������� #2�
���������� ��	� ������ ����	�� ��� ��� �.����� �
���	� �� ��� ��	���	� ������	�	�� ���� ���� ����
��	��� 	�������� ��������Φ� �	�	�� ���	��� �� ������ ������� Γ	��!� �	�� ���� 
��� 9� �.����	���
��	�	���������	�����	����������.��������.��	��	�	�	��	�����	������7	���	��������
	����	�������������������	����������	����	���	�	����������	��	�������	��
���	������� 	�
������/	��	��	����������−��������������
����� 	��������	��∋(��� ���������)∗∗∃���&���#∗#���
#∗)�� ��1	� ΒΒ+�� ,�−����� ��������� ��� �	��� �	�	����� ��	���� ��� ��������� ���� �.����	���
������.���
��� ����	���	������	��	�������,	����	�����������	��	�����������=#=������
����ΧΒ2�����������������.�����������������������2)���� ������2=���������� ������
�������	���0������.��������������������	�����	� ����	�����	��
���	� �� ������ �����.�����
����	����������	���	��������	���	��	�����	�����	�����	���
�
�����#=����������
��� ���������������	��	���	�������	���	��	�����	�������������.�∋∃�
�.����	��+�� 2� ��	����	���� �� #� ��	���1�� #� ��� ������� #� ��� �������� #� ��� ���.� �� #� ���
�������	����	
����������!��=��� 	���������	�����������������������������
��������Θ����
������ ���� 9∗%� ��� �� ���� ΒΧ∗� ���� ��� �	���	� 
��� �	��!� ���� ������ ����������� ���
�	����������������������	�����,���������������
��
������	��������	����������������	�������
����#∗��	���	�������	�����	����������	��������
�����������������.�����	���	������
�

��� ���� ��������� ��� ��	������	�� ��� ������ �� ��� ��� 	������ ��� �	�� �	����	�� 	� �	����� ���
��	�
��������� �������	������������ ������	��� �� ���� �����	�	�	��� �����	�������	����	�
	����	��� �� 	��� ��� �	���	�� ���������� �� ����� �� ���� ����������� ��� ���	����� ���� ������ ��
�������1	�������	����
�
��� ���.� !�� �	� ����	� �!�� ������/	�	� ��� ��� ∃2�#∗Υ� ����� �	���� ∋)=+�� ,	� ������.��� ���
������&���	���	����	����∋=��	���+�� �	��������	�∋9��	���+� �����������∋9��	���+���������

��� �	� ����	� ��� �&.���� ∋�������� ���.�� 	���1+� �� 	� ����	�� �	�� ����� ��� ��� �	��� ��� ����
������	�� 
��� �	� �	���� ��������	�� �	.��
���	� �	� ������� ������ ���� ��&������� �!��
�	�.��<�������	
��������������������������������	����	���������������������	�����������
�����	����������&�������!����	�� �� 	��	��������������������∋���.����������������	+��
��������	��� �� 	���	����������������������������������������,	�����	�������.��	������	�
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�	���.� ������	�� ,��� ������������ ��� ���� ����������� �	�� ����	�� 
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��� ���	�.	�	� �	� �	��� 	����	��
0���	�������������	��	�����	���������	�����	
����������������&��������������	��&���	�
�������	������	� ����	��	��� 	����	� �� �������� ��	� ����	������ ����	��	�� �	� ����	��5	���	��
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����� ���� 
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����������	�� 	� �	��	���� ��−��
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�������
����	� ��� ���.�� ��� ��	��	� ����������� ��� ������� ���������	�� 	��� ��	������ �	������
����������	����	������������.���������������	�����	�	�	���������	�����	�	�
���	
����	�
�	��������� 	��������	������������������	�����,�������������������������Θ��������������
∃=���� �� ���� #∗∗������� ��	���� �� ���� )=���� �� ���9∗������� ��&������ ∋(��� ���� �����
)∗∗∃���&���9Χ����1	�#)���#9�����&���#∗%����1	�∃+��
�
��6�? �∃	���=≅
��
����	
��
��
����Α����
Β�����
�
������ 	
�������  ��  	� ��������� �	��������� ��	����	������ ����	
���� ���� ��	�������
����	�7����� 	� %� ������ ����� ����� ����� 	��� ����	� ��� ������� �	� �	���� �	��� ����� 
�	���
��������  	���� ���	�� �	����	��� 	� �	����� ����	� ������	� ��� �	� ����	� ����	�	� 	� 	
�����
��������,�������������� �������������������	��	�����������&�����������Θ�	�����������#∗=�
���������)%∗��������������������	������������	�����������Ε��	�������������	��	�����	�
�	���.	��,����	������������	����!�����������	����	��	�����������������
������ ��	�.
�����
�	� ������ 	�����	�� �	� ��������	� ��� ��	���� ��� ����	���� ��� ����������� �� ������� ��� ����
�������������.��������∋(��� ���������)∗∗∃���&���9#:99����1	�∃�����&���Χ∃:Χ%����1	�Χ9+��
�
������� ������������� ��������� ����������� �� ���������� �	�.���� �	�� ���� ����������	��� 	���
�����
�����������	�������������∀� 	���������	��������������	�������
�������	�7���	�
����� ������ ��� ����� �� �&��.�� 	��� ��	� ������	� 
��� ���������.� 	� ����	�� ���� ������ ���
�����	��� �� �����:���� 	��� �&��.�� 6�� 	����� ��	������ �������	�	�� 	� �!�� 	� �!��� ��	�
���������	� ��	����	����� 	� �	��� ����� ������ �� ��� �&��.�� ���� ��	������� ����� ��������� ����
���	���	���������������������
�	���������	���	�����	�
�����������,	��	����������	
�������
��������	�7�#ΒΒΧ����	��������	�������	����	�:��������&�������
������	�����9∗∗�����
�
������ ���� ��������� ���	����	��� 	������ �������	�������	��������� ����	�	� �	���������	�
����������	���� ������� ����	���� ���.�	������	��� �	����������	�����	���	��	���� �	�
�	��
������.���	���������	�
����������&������Γ	��!�����	
���������������������������&������
�������������.���	����	������������������������������	��	��	�����
�
,�����������������������.��������	�	���	��	������	��������������	�	����������������	���
����� �.����	��� ���� �������	��� �� 	������� �������� ,	� ����������� ��	
������ ������� ���
�������� �������	����� �����	�� >��	������� �	�� ����	�	�� �	� ��������	� ��	�������
��	����	����������.����������#==������9∃∃�����
����� 	�����������	������	��������
�
��6�� �∃	��
	


�������������������
	�
�=�	�����
�
∀����������������	��������.�����	�	�������������	��������	��!�������	�.��������������
���������������������������������������	������������	
��������������.�������	����	��������
����	�����������������	������ 	���������	��������	�����#�∗∗∃������������	��������	
����
��� ���� Χ%9� �)� �.�	�	��� ����� 	�	�� ,	� �	��� �������	�	� ���������� 	� ������� 	����	����
	�	�	����������	�����������
�������������	���	����
����������	�������	�	��������1	��Γ	��
��������	�������	�����������������	�������������	������������	��������������	��������
����	�����	�������,	��	�����	�����	
���������	����������������������	�	�
����	��!����
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��������	�����������	���������������������	�∋,���/�����������������	�	����+��
�
�
�
�
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��< �∃	����
=�		��
��
��

���	��
�
��������	������	�7��� �������	��������������������	�����.��������	���
��������������
	�����������������	�����������	�����������	����	���	����	������������������������������	���
������&������������	�������	��!�	����	����	���������
�
��� 	
����	� ������	� �	��� ��� ����	���� ����  ��� ��������	�� ��� �.��������	������
���	����	���� 	��� �	� ���������� 	��� �&����� ��	�.	� �� �&����� ���/	���� ���� �	���
�	�	����Ι��	����	����������	�1���
�
≅��	����	���� 	��� 	
������� �.��������	�������  ��� ������	�� ��������� ����	����� 	�����
����� 
�	��� ��� �������	� ��� ��� ������� ��	�������� ��	
����	� ����� ∋0	�������� ����� )∗##+�� ��
	������ �� 	�� ����	�� �� �������	�� �	����	����� ��� ��������� ����������� ��� �	�&�����
������	����	��∋,���/�����������������	�	����+��
�
����	�������	����
�����	�����.����������������	��������∋0	�������������)∗##+���	��&�����	�
�	����	���� ����� �&����� ��	�.	� �� �&����� ���/	��� �� ���� �	��� �	�	����Ι��	����	���� ���
	
������� �.��������	������� ����������� ���� ���������� ���������	��� ��� ����������
��	����� 	��� ��	�&����� ������
���	� ����� ������� ��� ����	� �� 	��� ��� ���� ��� ���	�:���� ���
���	����	����������	�����������	��	������������	����
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,������������.��������	�������� 	���������	��	�������	���	��������	��	�1���	���������
����� ��� ����� ��������	���� 
��� ��	����	�	� �	� �	���	����	� ��� �	� �	�1� ��	� �	���� ����
�� 	��	� 	���������� ��	���	�� ��	�����.� �	���	��� ��� 	����� ������ �� ���−��� 6�	� ��� ����
 ��
������ ��	� �����	��	�� ���� ��� 	������ �	����� �� 	��	� ������	�� �	� ����	� ����� 	� ��������
��	����� ����	�� ∋��
.��� 	��� Β∗∆� ��� 	������ �	���+� �� ��� �!� �� 	��	� 	������	�� ������� �	�
���������	�������	�����������	�
����
����������	�����	�	
�����	������������	��	���	���
�
���	
����� �	����	�� �����	���������!�����.��������	���� ������	���������	�� �	� ����	����
���.� ����	�� 	����	��� �	�����  ����	�� �� �������� �
����� ������� ��� �	� �������	�� ����
��������� ������ ���� 
�	�� ��� �	� ��	����	�� �����	��	�� �	�  ��
����� 	�����	���	�� 	��� �	�
������	������	�
��������������������.�
���������������	�	
��������������	�������	����
�������	������ �	��������������������	��	
��������	���������������������	����������
�������	��
���	
������	��������������������	�
����	���	
����	� �����������	���	�
 	����	������	
�������������	
���������	����.��������	�������	����� ��
��������	����	����
���	����	�������	����∋(��� ���������)∗∗∃���&���#9∗+��
�
6�	����	�	������Θ����	�	� �	��	����	�������	������	����������	����	�.	��	��� ��	�.	��	�
�	��� ���� ������� ���.��	�� ������������� 	� �����	�.� ��� �	� �&���	� �� ��	�����.��
0������������������	������	�����	��&���	��������.���	��	���	��������	�.	���	����������	�
�	�1�� >��	������� ��� �	� ������ ���	� �	� ����������� 	��� ��	� ����	� �������	�� ,	� �	�1�
��������	��������	�	������	�	��������
����������	�����������������	�
����
��
����∋���
�����2%+��
�
��? %���	�������
�
,	� �	��	���� ��� �����	�������� ��� ��� �	�� ��� �	� ����	�� !�� ���	�� �� ��� ���� ���� 	� ���	�� ���
��	�����	������	���.�����	���	�	����!���	����	��!������7��	�����������	����������
���
������	���/����������������������	�7������∀���!�����������������������������	����������
����������������!�.���	�������	�����!�����������
�������	������������	���������	
�������
�	���!����	�������������������������	����
�
�� �	� ��	�	�� �	� ����	� 
��� ������	�&� ���� ��	���	�� ������� ���&����� 	����	� ��� ����������
���	��������������	������	�������	�����	���	����������	��	�	����!����������������
���
	����	��������	������	��������	�	���
��������������������������.������������������	�1�
������.�	��	���������	���	��	�∋(��� ���������)∗∗∃���&���%9:%=����1	�Χ∃+���
�
0��
� ��� ��� ���� ����	��	�� 
��� ������ ������ ��� ������� ��� ����	�������� �������	����� 	��
�	�������� ��� 	
����� �������� ����	�	� ��	������	����� ������������ ������� �� ��	�
���� ���
���������� ��&������� ������������ ���� ��� ������ ∋�	���	
� 
�� �	��������+�� ����	��
�������	����������	��	��������������Γ	��!���������	��	���������	��������1	�������������
�����	�������	���	����	����∋�����	
���������+���������.�∋�	�	
�
����������
+��
�
>��	����������	�������	�����	������������������	��	��
����������������	�����������	�
	�	�	����6��	�����������������!���	������������������	������������	.�������������	���
�����������������������������������������������������	��;����	����������������������	��	�
��� ����	� ���� ����	���� ���� 	� ������������� !�� ���� 	�.
� 
��� ������ ������ ����
���������	���� ������ ��� ������������� �	.���� 
��� �����	������ ��� ��� �	�� �����Θ����	�� ���
�	���	��.������	�����	�����7	���������	�������	�����	������	���	��	��	�������	���������

��� �	��!����������������	�:��������������������� ����	����.��� �	������	�	�� ��� �	������
���.� ∋���	
��������+������	����� �	����������������������� ������������∋����	�������	�
�	�����	������&������	�.	+��
���������������������	��������	����������������	��������
���������������������
�
Γ	��!��	������
�����	�	�	����	�������������������������	� 	��������	�������	������	��
�	���.�� �	�� ���� �����	� �������	�� �������� ��� �	�1� 	��� ��	���� ��� ����	��� ��	�.	�� 	� �	�

�	�����!������	��	�	�����������������	���������������	����	���	��	���	�����.	���	���������
�	�1�∋(��� ���������)∗∗∃���&���∃2:∃=����1	�=9+��
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��� ������Α������	��������		������
	��
�������
���������	��#�����
�
����	�����������	���	�	�����	����	��	��������	���	��
�	���	��������������������	����	��
�	����������� �����	� �	��	�	� �� �	� �������������������� ,����	�����.���	���� �����	���������
�����������������	����	��	������	������������������������	��	�������������	�������	�����	�����
�	��!�����	��	���	����	����������������.���∋�	�1�������.��+��
�
����������&������	���������	�	��������
��������	��������������� 	������	�������	��	����
�	��	��������������	�����	����	������	�	�	������	�����	������!����	���� 	���������	��
���� 	��!�� −����� ���� �	��	���������� 
��� ���� 
��� ������ ��� 	������!�� 	���� �����!��
	����������	��	���
�
6�� �	�� 	� �	��� ���� ���� ������� ����	��� ���� 	� �	�
���� ���� ������	�� �	� ����	� �� 
���
�����
���	�����	���������
�����
��,�����������	�����	��������������������������&�����
∋�����	��+�	��	�����������������������������	����	���/	��∋;��	�	��)∗∗∗+����	�������	
�����
	����������
�

�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
������5��3�����
�2�∗∗�
���∗�

�����
�����
�����
<���������
�

�����������	����������������������	�����������	��������������	�������������������
�������	�
�	�����	
����	������∋;��	�	���������)∗∗Χ+�����.���	��	��������	���������	���	
�����������
�������������������������������������������������	��	���	�����	�����	��	��	��������
����	��!�
����	���������������	�������	�����������	�	�������
�
0���
����	�	����&�������������	�1����	������
�����	���	
����������������	�	��������	��	�
�&���	� ��� ����.� ���	���	�	�� �� ���� ������	��� ����� �������� �������	��� ���� �����������
������ �	� ��	���	�� ��� ������ �	�1� ��� �	���	�	�� Γ!� �����	���	����� ��� �	� �	��� 	����	� ���
�	�	�Θ���� �� ��� ��	���	��� ���� ��������� ��� �	�1� ���� �����	������ �&������ ��� ����.�� ���
�
�	��!�� ��� 	������ �	����� ��������/��� 	������ ∋;��	�	�� )∗∗∗<� ;��	�	� �� 0	������ )∗∗∃<�
0	�������������)∗##+��∀�����	
�������������������	�1����������������	��������	��������
��� ������ �����	�� ���� 	�� ����	��� ������ ��	����� ��� ����7����� �� ��������	�� ��� 
���� ������
�����	���	����������	��	�∋��������2Β+���
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�
>��	���������	�&������������	�����������������������.	���������
����∋��	��/�������	��������
��������+� �� ��� ����������	����� ����� �����	�	� �.��������	�� ��−�� ��	
����� ������ ���
��������������� 	�����	�����������
��� �������������������
�����������������	���	��
��� ������	�����Φ� ��� ����	� �� ��� ��	������	��� �
������ ����	���� ���	�� ���������� ��� �����
	�������� 
��� ��� ���������� ��� ��� ������� ��	
����	� ����� ∋0	����� ��� ����� )∗∗=<� ;��	�	� ��
0	������ )∗∗∃<� >���?���/�� ;��	�	� �� 0	������ )∗∗%	� �� �<� ;��	�	�� 0	����� �� ����������
)∗##+�������	��!����	����������	����∋;��	�	���0	������)∗∗2+���
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∆ ���� �!∀!�#∃�∀�%&�∋(��∀��∗�!%∀�#∃���∃&�∗�!%�
+!�∋ ��/!���∀�#∃��%!�Ε(,�+!�−�∃��!�%����.%�!�
�1!+∃1��+∃!����#∃��Ε(�1��+!�−�∃��!�%����.%�

�
0����	����	���.��	�:����	���������	����������������������������������������������������	���
	������������ �� �	�	������ ���� �������������&�� 	������� �	���� ��� ���������� �	�������� 
���
 ���������	����
���������	��������������������������	���������∀��������	���������� &���	��
���8	���Ο�	� �∋0	�	�:�	������	�� ������������&+������	�∀�����	�∋4��	��	��	�����0��������
������0������+�������	�∀���	�����5	��(�����∋4��	�	����������������&+��
�

����	�������  ��  	� ����� �������� 
���  	���� ��	��	�� ��������� ������� �� &���	��� ���� ���������
����&��0���������	�	�� ����	�&������������	������� ������������������ &���	����� �	�(
���	�
5	������� ∋5������ #ΒΒ)� �� #ΒΒ9<� ;��	�	�� )∗∗9+� �� ��� 8	� ��Ο�	� � ∋;��	�	�� )∗∗9+�� ��	���	�
�	��	�������	��������������������������
������∋5	�����0�����8	��−���#ΒΒΧ<�;��	�	��)∗∗9<�
(��������)∗∗Β+�����������������������	����������������������������	��������!������	��
�����������	�������������������������������������#Β�∋��������=∗+��
�

�����∋���1�����∗.�
�������������
��������
���6���∗�
�������������������������2�������∗.�

���������������������
��.�.
����������
�

                                                 
19 ,����&��������	
������	���������������������	���.�)� 
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∆�6 �%����!∀�%Φ�2����(�∀�Γ∃1#∃1�4�������∃+�&1# 5�
�
����	����������8	���Ο�	� �!��	���������������	�����0	�	�:�	������	��	�������������&��∀��
����	�����������&�����������	������:��������	������	�����	����≅������������	���/	�������
�����.�������	������������������
������	���	����	���������
�	�����
�
����	� ����	�:��� ��� ��� ������� ������ ������ ��� ����&� 
��� �����	� ���	� �	� ��	�	� ��� ������
������&������������������0���������������������&������������������≅������Ι8	�����Γ����<�
������� 
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∃	���������
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������
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∀� 	�� �������	�� )� �	���� ���.��	��� ��� ���������� �	���	���� #� �&���	� �!� ��� �	��� �	���	��
	�������	�	����	��	���	�	����	�������������������	���	��!�����	��������	�������	�	����	���
��	�	����	� �� ����������� ��� �	��	�� ,��� )� �&������ ���������� ��	� ������	� �	��	�	�� 8	��
��������� �	���	�� �������	� �
���.�� ���� ������	������ ����������	��� ���� �����.��� �� ����
����������	�����&�����������	��/�Η�	������#∗��	���������	����	������%��,����	��������	���
���������� )� �� 9� ���	����� ��	��� ��� #)� �	���� �� �	��	��� ��� =� �	����� ��	������� �����
���	�����!���	�	�Θ�������	����������������	����
�
,���	���	����������
����������������	��������������������	����Ε�����	���	Φ����7�����
#∗�����)Β�#Υ<�������#∗������#=�����=2�#Υ�����!�����#=�����#∃�∃Υ��,���	���	����
���������������#%���������������.�������9�=������
�
�����	��	������������ 	����	����������	�����#∗������������	���	����
�
∆�6�? ∃	������
������
���		��

�
��� �������� ������ ��� 8	� ��Ο�	� � ���&� �������� ���� ����� �	����	��� ��� 
�	��� ���	�� �� ����
����������	����	��������
����������������������	�Θ�
�������
�
,��� ��
���� ���	��� ���	�� �������	���� �������	����� 	� ��	�����	������ 	���� 
��� ������
�������.��� ���������� ��������� 
��� �	�	������/��� ��� ����!�� ��� �	��	Φ� �������� ����������
������� ��� �	��	� �� 	����� ��������� ��	��
������ ��� 	
����� �������� �	�� ������ ��� ������� �	�
��������	� ��� ������� ��� ��� ����!�� ��� �	��	�� �	��� ��� 
�	��� ������&� ���� ��� 
�	���  �	���� ��
�	��!��������������	��������������������������������!������	��	��
�
���������� ��� �	��	� ���� 
�	��� ������&� ����	� ���.����	���� ���������	� ����� ������ �������.�
	����.��	����������	�����������������	���	��	����������������	��	�∋�������������������
+��,	�
������	�����	�	�!���	�����������������	�	�������	��ϑ������	��������.����	����������	��	�
�	����� ����	� ��	�	����	������������ 	���	� �	� ��������	� ������	��� ��	������ 	������	�����
������	�����
�
���� �������� ��� �	��	� ���� 
�	���  �	��� ���� ���.����	���� ��� �������� ��� ����	� ������	��
���������� 	� �	����� ����� ��	� ��� ��	����	� �� �!� ������	�� 	�����	��� ����	�� ���� �	���� �����
�����	� ���� 	� ��	�	����	� ��� ����������� ,	� ������	� ��� �	��	� ����	�	� !�� �	� ����������
������	�	�������	���
�
��������������������
����������������	����∋����.������.����	�����	����
��	+�����������	����
��� ���	�� ����� ��	�����	���� ������	������ ���� ���������� �	���	��� ����� 
�	��� ��� �� ���
��������	���	�������������ϑ�� �����������	������������������	�������������������&������
�	�������������	��
�����
����������������	�	������/	��	������������������������� �	��	�
����	��� 3� ������� ���  ��� ��������	�� ��������� ��� ��������	���� �� �	���������� �����
������Φ��&��������������	���	���������	���	�����������	�����������
������	����	��	����	�
���
�	������������	���	����������	����	������	��������,	���������	���������������������	�����
�	�������� ��� ����.� ���	�� ��� 	�������	� 
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�����������������������	��������	����������������	���	������8	���Ο�	� �
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�
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����������������	������������������	�	�����
������������	���	����������.����	��
���������	���/�����������.���������	�������������������
������� ��� ���������� /����� ������	��� ∋Γ���	�	�� ��;��	�	�� )∗∗#� �� )∗∗)<�;��	�	�� 0	����� ��
Γ���	�	���)∗∗=<�;��	�	���Γ���	�	���)∗∗%+��
�
6�	� ���	�	� �	���	���� ���� ����������� ����� ���������� �	���	���� �������� ��	����	�� 
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����	����	���������������,	������������������&������������������������������	������Χ∗���
%∗� ���� ��� ����� ���� ���������� �	���	��� �!�� ��������� ����� ����� ��� ����.� ���	�� �� 
���
����������	���.��	�	�����#Ι9��	����������	�	��������������	������=∗���������	��	�	�
∋��������∃)+���
�
Μ��� ��������	��� ��� ���� ���������� ����� ��� ����.����	�� �� ��� �	����
��	�� ��	� ����������
���	���	�����������	��������	��	�������������8���
��������	��	�����������������	�����	�
��������	���� �� 	� ���� 	� ������ ���� ��	������� ������	�� ��� �	� ����������� �� ��� ������� ���
��������	���������	����/������	����������������
�
�������.����	�����&���	��	��������	�����������∃∗Υ��
�������������	��2%Υ��������	��������
	��Χ∗Υ�����������������	���	����,	��	����
��	����&���	��	�	�������	�����������2#�∃Υ��
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�
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��� ���������� �	����� �	���	��� ��
�������� ��������� �	��	����� ���	����� �	��	��� �� ���������� ,�	������� ����������	�� !��
�������	�� ����������
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�� �����������	����	��	��������������
�
:0����������������	�	������	���������	�����	��������������������������������!����������
���
��	���	�	� ��� �	� �&���	�� ��� �	�	������/��� ���� �	� �����	���	�� ��� �	� �������� ���	�����
�	�	�Θ���������������	�������	����������	��	��������������	����������������
����	�������	�
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�	���������
�����!������	��������������������������.����	���.����	��	������������������	��
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������� 	������� �	�� ����  ��� ������ �����	�	��� ����������

SX.MELAT; 
40%

SX.MELAT; 
60%

TRACTAT
TÈRMICAMENT

NO TRACTAT

SX.CALCEDÒ
NIC; 42%

SX.CALCEDÒ
NIC; 58%

TRACTAT
TÈRMICAMENT

NO TRACTAT
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����.������� ���������� �	��	� ��� �	�����	�	�������� ������� ���
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�
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��� ����� 
��� �����	� �	��� ��� ���� 	������ ���� ��� ���� ���������� �	���	��� ���� ���� 
���
���������� ��������	����	��<� �����������9=�ΒΥ���� ����� ��� �����	���������	���	
�������
�&�������������	���	������−������	�������	���� 	�������	������	��������	�������������
�	�1�∋����&���)���−���%+��0��������������	�	���.���	�&����	��	��	�����	����	���������&������
	��������������	�����������:��	����	������������������	����5	���	��	�.
�������������!��
���������	����� ��� �	� ���−����	� �����	� �	��	�	� ��� 8	� ��Ο�	� � ���� ����������� ∋������� ��
����������+� ∋��� �&���∃+� ∋#2�∃Υ+�������������������������������	����∋����	���� ���#�∃�
+�
∋#)�9Υ+�∋����&���Χ+��
�
���������	���������
�	���������&��� �	������	�������������	��������.�������������������
���
 ��� ��������	�� 
��� ���&� ���� ������ ��	� �&���	� ��� 
�	���  �	��� ∋��� �&��� ∃�� �−��� %+�� ���
����� ��� ������ �!�� �������� !�� ��	�������� 	��� 	�������� �������	�� ��������� ������	� ��

% RETOCATS PER MATÈRIES
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������	�����������	�����������!�������������&���������Η���������	�	������������	�������	��
��	���	�∋����&���=���−���=���Β+�����������������	�����	������	�	���������	���������
�	���

��� ���������.� ����������� ��� ����.�� 
��� ��������� ���������� 	�� �	������� ∋��� �&��� =��
�−���)+��
�
�

� � %����!∀�%Φ� �
ΗΙ�

1∃�&%��∀�

)1(�� Ε��
Φ!��∗�

Ε��
/!�&��

∀∗�∃9� +∃���� %��%∃#� ∋�∀�!� �&����

�� #&1∀�
�.1(��∃�

#� �� #� #� #� �� 9�

�� #&1∀�
∀!+��∃�����

�� #� #� #� �� �� 2�

�� +�1)!���� #� #� =� #� �� �� %�

�� )1���#&1� �� 9� �� �� �� �� 9�

9Χ:<)Χ� #∃��!%(���� �� #� )� �� �� �� 9�

�� &∀%�� �� �� #� #� �� �� )�

�� �1∃����� �� #� #� #� �� �� 9�

�� ∃∀%����� �� �� �� #� )� �� 9�

�� #&1∀�
�.1(��∃�

�� �� 9� �� #� �� 2�

�� #&1∀�
∀!+��∃ϑ�����

�� �� 9� 9� �� �� ∃�

�� +�1)!���� �� �� #9� %� 9� �� )2�

�� )1���#&1� �� �� �� �� #� �� #�

�� #∃��!%(���� �� �� #� �� �� �� #�

<∆1=Ε)Χ� &∀%�� �� �� �� �� #� �� #�

�� �1∃����� �� �� #� #� )� #� =�

�� 1Φ:Γ)� �� �� #� �� )� �� 9�

�� �1(�%�#(1�� �� �� �� )� �� �� )�

�� �(���� �� �� #� �� �� �� #�

�	Ε3)Χ� /&�! %!�� �� �� )� �� �� �� )�

�� �∃#(�%�∃�!�
��∃�∃∀�

�� �� �� #� �� �� #�

∀∃)+∃��� �� �� #� �� )� �� 9�

�1��∃Κ!� �� �� #� 9� #� �� =�;)Η1Ι3Β=:Χ�

�1!��)�∃� #� �� �� #� �� �� )�

3Η39<� �� 9� Χ� 9%� )=� #∃� #� Β∗�

�
�����∃∋��3��
�����������������:��
2=���#��
�

Μ���������	��#2����������
������������������	������	���������������������������
�	���
2� �������������� ����.	� �� #∗� ��������������� ∋2� ���������� 2� ��	��/��� �� )� ���	�����+� ∋���
�&���∃+��
�
�������� ���� 2� ���������� 9� ���	�� ����� 	��� �	����
��	� �� #� 	��� ����.�� Γ����  	�� ���	��
��������	�����������������	���������������������	�1	���������������������������	��	�����
�	��	������.��	�� ������	�����	
�������#����&� ������������� ��	��������	���	� �������	��
���
�� 	������	�����	��	������∋����&���∃���−���Β+�������������8ΟΒ):[∃Β:29�∋����&���∃���−���
#∗+��!���	���	�	���	����	���−���
����� 	��������	����	������	��������
�
���� 2� ��	��/��� ������ ��	����������	� �� ��	� ��������	���� ������������� ���������� )� ���	��
����������������	���	�	�������������	��������&���	�∋����&���∃���−���#���)+��#�	���������
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������� 	��� ������ ���� �������� ∋8Ο%%:�(∃):2+� ∋��� �&��� ∃�� �−��� Χ+�� �� #� 	��������� �������
	������������������������	���	��������������∋����&���∃���−���#∗+���
�
0���
����	��������	�������#����&���������������.����	����#���������	��&���	����
�	��� �	����
����������∋8Ο%%:Ψ∃):#)+�∋����&���∃���−���9+����&�������������	�	���	��������	��
������&�
�����	�	� 	��� ������ �������� ��� �	���	�� �� ��	����� ��������� >��	������� ��� ���	����� ���� ������
��������� �	���	�� ��� 
�	���  �	��� ∋8ΟΒ2:4Χ9:=+� ∋��� �&��� ∃�� �−��� %+� �������	� ��� ������
�����������������
���������������������,	����������	�!�����	���	��0������	���	���	����	�
	���	�������	�����−����
�
��� ����2����������� ����.	��)� ������������������	�� ����&����<�#�� ����	�	������������ ��
	���������#�������	�������������	�����������	�	��	����
��������	��	��������������	������
�������	����
������!������������.�������������	��	���	�	��������������	���������	���������
������������
�
,���9���������!�������������	��������������������	������������
�
:8ΟΒ):�Μ9:≅#��>�	�������������	�����&��	�	���	�	������������	��	�����������
�������	�
���	��	����������������&���	�����	�	����.��	������������	���5����	�#=�)����.�#9�2����
.�2�)�������!����������#���∋����&���∃���−���#)+��
�
:8ΟΒ#:��%):)��0���	�����&��	�������	����������� ����������	����	��:�����.	� �� ��	������	��
���	����	�����	��������&���	��≅��������������������	��������	��	�	�����	��������	��	���������
�.����������	�������.��	���5����	�9∃����.�#)�∃����.�=�������!�����������)�)���∋���
�&���∃���−���#9+��
�
:>��	������� �����������	����	�����	��������.	�	��������������	���������	�	�������.�
���	���,���	��	���	��������	���������������	��	��	���	���	�������������������	�	���	��≅�����
���������������	��������������	��������	���∀���.���	��	��������	������5����	�#=�)����.�
Β�=����.�9�=�������!�����������∗�∃���∋����&���∃���−���##+��
�

Γ���� ����� ��������	��� ��������	��� ���� 	� ������� ��� ������	����� ����  ��� ��������	��
�#�∃�
�� �� ������� 
��� ���������� ��	� ����	� 	������� �� ����� ����	�	�	� ���	� ���� �������
	���������,����	���/	�����������������������	�����	�!��������	����������Φ�	��������������∋���
�&���Χ���−���∃+��	���������	������ ∋��� �&���Χ���−���##+��� ������� �	���	������� �����	��	��
��
������∋����&���Χ���−���#+��
�
��������	�������	��������������&���	���.������#�
������&�������������	�	���	�∋����&���Χ��
�−���=+�����������!�������������������	�	��	��	�������	������	��&���	���.�������������	�����

������������!���������∋����&���Χ���−���#9+����������	��������������������������
������&�
����������	���	��������.����	����
�
∆�8 ���∀∃11∃���2Γ!��/1��%��#∃���∃�∃#,∀4��������∃�∃#,∀5�

�
,����	�������������������������&���� �	�∀�����	� 	�����������	��)Χ��������������,	��	����
�	��� ��� ���� ������������ ��������	���� ���� ������:�������� ���
� ��� �	����� 	������
������������ ���	����	���� ������	����� 	��� �� &���	��� ���� )� ����	��:���	�	���� �� ��	�
�	�	�	��Μ���	�	���/	�)2�%9���������2��������
�	���������	�����������������������
������
���	����.��� ���� ������������ ��� �	� ���Ε�����	���	Φ� �=� ∋∃� ��������+�� �#∗� ∋∃+�� �##� ∋9+��
�#)�∋Χ+���)9�∋)+���)Χ�∋Χ+���9=�∋#)+���9∃�∋Β+���2∗�∋#+���2∃�∋)2+����=∃�∋∃+���
�
,����	�	�������	����	��
��
����������	����������	�
����	
����	�����	�������������

2#%∗������9∃%∗��	���(8�∋�����������������������	+���
�

                                                 
)2������������	�1	��������8�∀�:������������	��	��������	�������������	������Ο��������8	�	�&�����
�������	�8�&����	�
��Γ��	���∀�������8�����	�����
�
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��Β��
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�
����� %9� ��������� ������	���� Χ∃� ∋Β#�=Υ+� ���	�� ����� 	��� ��������� �	����	��� ��� ��
����
��������������������
�	��� �����������	��9������������������.��	����	���9��������.����	����
9�����	����
��	��,���	�������	����	������	�����������	��������
�	���������&����∃��	������
����	��������
����	���#����������8	������	�	���	���������	����2���	���������������������
∋9� ��� ����.� �� #� ��� �	����
��	+������ ��� �	������	� 	�	���/	�	� �� 
��� ��� ���������� ����	�
	������ ���������� ������� ������	��� 	��� �	����� 	�.	�	��� �� ������	��� �� ��	��� ��������� ���
�����������ϑ�� �����������������	� �	��	� ���������	�	�� �������� �	� ��	����	����� ����������
���	����	����	�������/	������
�

�
�����∃∃��3��
����
���������2�
�∗�
�����

��������∗��+������∗������ 

�
∀�����.�������	��	�����	���������������������������������������	������������	�	������
��� �������� ���&� �������� ���� ΧΒ� ���������� �	��	���� ������ ���� 
�	��� ��� ����.� ���&�
���������	�� 	��� ��� Β∃Υ�� ,	� �����	� ���&� �����	�	� ���� �	� ��������	� ��	������ ∋2Β�
����������∃)Υ+�� �&������ �� �	��������∋)∗�����������)=Υ+�� ��	�������∋Β�����������##Υ+� ��
�����������	������∋#����������#Υ+��
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	��� %�	�
������

∀�	
��
=���
≅��� ∋����� �	��
�� ����	�

���	�� #� #∃� �� #� #� #� #� )#�∋)ΧΥ+�
/���

���
�����	�� 9� ))� �� )� �� �� ��

)Χ�
∋92�#Υ+�

/�����������
���	�� �� #� �� �� �� �� �� #�∋#�)Υ+�

��
���� �� #� �� �� �� �� �� #�∋#�)Υ+�
/�����������
��
���� �� )� 9� �� �� �� �� =�∋∃�9Υ+�

/�����	�
���� �� %� �� �� #� �� �� Β�∋##�9Υ+�
/�����������
	�
��
��� �� #� �� �� �� �� �� #�∋#�)Υ+�

/�����	�
��
��� �� 9� �� �� �� �� �� 9�∋9�%Υ+�

/���

��� )� =� �� #� �� �� �� %�∋#∗�#Υ+�

1
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���	���	�
��
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�
∆�8�< ∃	����≅������		���
����>�
���	−	�����
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�
����	����	��������	�����&�����	���&���	�������������.�∋��������∃9���∃2+���
�
∆�8�<�6 �
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�
,���	�������� ��	���������	���	�� ���� ����������������	��������2=�����������Γ�������	��
�	��	����������.��.������������������
������&�������������	����	�����������	�	��,����	����
���.��	������ ����	�����������������	����������	������ ����������������∋#Χ+� ������������
������������	���∋9+����	���	���∋#+�����2��	����� ���������	�������������	�����������	����
���� 
��� ���� ��������	� ��−�� ��� ���������� ������	� 	��� ����	�� ��� ������ ��� ����������
�	��	���∋Β+����������∋∃+���	�������∋∃+��ϑ��!�� �����������	����	�����	�	����	�	������
�	�����������������	�	�������	�������	��	�������	����	���	������	���	�	����	��������������
����	�	���	���	��������������.��	��������������������,����	��������	���	�	���.���	���
�
���.�������)∗Υ�������	������!���������������	���∋Χ+���������	���∋9+�������	������	���
)� �� 9� ���	����� �	��	��� 	��� ��	� 	������� �������	��� Ρ�	��  ��� ������ ��������	�� �	�
��������� ��� ���� �.��	������� ����������� ���� ������	��� �� ��� 	����� �	�� ������������ ��
����	����� ,��� ������	������ ����������	��� ���� �&���	����� �����.��� �� ���� ���������
��	�����	��� �������	��� �������� ������ ���� ���	����	���� ,	� ���������	� ����	�	� !�� ���
)%�)Ι)#Ι%�2������������������	������∃#Ι9∃Ι#%�=���∋������∃%+��
�
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�
,	� ���������� �	���	�� ���&� ���������	�	� ���� )∗� ��������Φ� #� �&���	�� )� ��	�������
���.��	��� ��� �&���	�� #)� ��	������� ��� �&������� #� ��	������ ���.��	�� ��� �	�����	�� #�
��	������ ��� �	�����	� �� #� ��	������ ��� �&���	� ��� �����	�� ,��� ����� �	���� ���.��	��� ���
�&�����������������	����������������)��	����	�������	�	��������	����������������	��	��,	�
�	�����	��������	�����	�������	�����	��!�	�������	�	��������	����������������	��	��ϑ��!��
��� #� �	��  ��� ��������	�� �
���.� ��������� ����	��� ��� ��� ��������� �	���	��� ,���
������	������ ���� �����.���� ���� ��������� ��	��/�Η�	��� ���� ���� �����	����� ���� 	��������
��������	������	�	�Θ�������������	����,�−���	��&���	�������	������	�22�=����.�Β�=����.�
Χ����∋����&��%���−���=+��
�
�����������&��������	������	�	���	���������	���#���	����������	������&���	����	��������.�
�	����	��
��������	�9=�=����.�)9����.�=�����
���������	�����	������	������#∗∗�
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6�� 	����� 	������� ���	��	���� !�� �	� ��������	� ��� ����� ���������� �	���	��� �����	���
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�
∆�8�? �∃	������
������
���		��

�
��� �−����� �����	�� ����������� ���������	� ���� ��������	������ �����
���� 
��� ��� ������
�.�����������
���������������������������	�����������������������������������������
�
:0���������������.����	�����������������	����	����������.��0�������	��������.���	����	����
���	��� �� �	����
��	� 
��� ��������� ��������	�� ��	� ��������� ����������	� ��	
�������
�	������Φ��	�������������∋�	����	�+������.���6�����������∋�	����
��	������.�������������+���
�����	�0�����1	���	����	�∋����.����	�+���
�
:�.����	������������	�����������
�������	�����������
�	�����
�
:,	� �	��	� �	���	�� ��� ��������	� 	�� �	�������� 	���	� �	� �	��	� ��� ���������� ��	��
������
∋����	�	������� 	������ ������	��+� �� �������� ϑ��!�� �	�� 	����7	�	�� �	� ��������	� �����
��	����������&���	���������	��������.����	�����	��	��������	������
�
:,	�������	�����	��	�����	�	�����	������������	���	������	��	����������Ι����������	���
�
:,	��	��	���	�������������.�����	�����	�1	�����	��.����	�������������	����	��	�������	��	���
���������������	��	�����������	��∋����&���)+��
�
∆�8�� �∃	��
�������
�������

�
Μ��� ��������	�� #2� ������� �����	���� ����� ����� ������ ��������� �	����	��� ��� ����.� ��
�	����
��	Φ� )� ������ 	���	� �� #)� ������ �&���	�� 
��� ������������ ��� ∃∗Υ� ����� ��������
��	
������ ������ ��� �	�������� ��� ����� �����
���� ��������	��� !�� ��� ��� ���� �&������
�����	������� ����	��	����	��	���������������������������������������Φ�)� ���	���������
���������������#���	��/���������������������!����������!���������������	���������	����	����
�	����������������	���
�
:,∀∗Β:9=:):#∗Χ��Γ����Φ�	���	���������	�	������	�������	����
���.�������	������	�� ��������
������	����	����������	���>�����	���������Φ�∀������
�
:,∀∗Β:#):2:)##��Γ����Φ���	�	����������	���	��>�	��������	���	�����	����
��	�	���������
����	��	������������������������>�����	���������Φ��������∋����&���Β���−���=+��
�
:,∀∗Β:)Χ:#:)9��Γ����Φ� �	���	��	����	���>�	����������	����� �&���	��������.�����������
��	��/�Η�	�� ���� �������	�	�� ������ �	����	�� ���	���	��� >�����	� ��� �����Φ� ∀������� ∋���
�&���%���−���Β+��
�



���������	�
����
���	�����	���������
�	���������
�	����
����������
�
����	������
����
�����	�������	����
�
���
����	��������
��
��

���	�

 

 133 

:,∀∗Β:=∃:):)∃=�� Γ����Φ� �&���	� �	����	��� >�	������ ����	�� ����	�� ��� �&���	� ��� ����.�
���	��������������	��/�Η�	���(����������	�	������	�����	����	��������������	����	��������
>�����	���������Φ�∀�������
�
:,∀∗Β:2∃:):)∗��Γ����Φ��&���	��	����	���>�	���������.��	������&���	��������.�������	���
	���	�	����������	����	��������>�����	���������Φ�∀������
�
:,∀∗Β:9∃:9:∃#��Γ����Φ��&���	��	����	���>�	���������.��	�Ι����	������&���	���������	�
�����������	���������.����	���ϑ���������	� ���� �	�	��������
�������� �	���� �	�
��� 	����	��
�����	���≅������	����	����
�������>�����	���������Φ�∀������∋����&���Β���−���#+��
�
:,∀∗Β:#∗:9:∃)��Γ����Φ��&���	��	����	���>�	����������	������&���	��������.��	����	�����
���	���	���0�����������������	��	�����	��&���	������	�����	��≅������	����	����
��������
������>�����	���������Φ�∀�������∋����&���%���−���Β+���
�
:,∀∗Β:9∃:9:##∗�� Γ����Φ� �&���	� ����� ������Ι��	�� >�	������ ����	�� ��� �&���	� ��� ����.�
������	�	���������������������≅������	����	����
��������������>�����	���������Φ�∀������
�
:,∀∗Β:#):):#=#�� Γ����Φ� �����	���	� ����	�� >�	������ ����	�� ��� �&���	� ��� ����.�
����������� ������� ��	��/�Η�	�� ���� �������	�	� �� �����	���	� ����	� ����	�� ��������� ≅�����
�	����	����
��������������>�����	���������Φ��������∋����&���%���−���#+��
�
:,∀∗Β:=∃:2:)%9��Γ����Φ������	���	�����
�	��>�	����������	����� �&���	��������.����	��
���� �������	�	�� ���	����� �	�	�Θ����� �����	��	���� Γ����	���	� ����
�	� ���.��	�� �� ������
�	����	��������>�����	���������Φ�∀����∴������∋����&���%���−���2+��
�
:,∀∗Β:=:∃:#Χ�� Γ����Φ� ���	����� ������ �������� Γ��	����� ������ �&���	�� ������ �������� ������
����������	��	�������������	��
���&���	��>�����	���������Φ�∀����������∋����&���%���−���#+��
�
:,∀∗Β:=:∃:#∃�� Γ����Φ� ���	����� ������ �������� Γ��	����� ������ ������� ���	��	�� ������� 	���
����	����
��	��������������	��
���&���	��>�����	���������Φ�∀����������∋����&���%���−���
)+��
�
:,∀∗Β:##Ι#)��Γ����Φ���	��/��	��������>�	����������	������&���	�	���������	�������
���
�����	���	��	�:����������	��/���ϑ���������	��	��	������.��	���>�����	���������Φ��������
�
:,∀∗Β:#):):#=9�� Γ����Φ� ���	�	��� >�	������ ��� �&���	� ��� �	����
��	� ���� �������	�	��
���	�	�����.��	���>�����	���������Φ���������∋����&���Β���−���2+��
�
∆�< ���∀∃11��#∃��+�∀�.&�∃��2Γ!��/���4�������∃+�&1# 5�

�
��� �	������� ��� �	� ∀���	� ���� 5	�� (����� ��� ����	� 	�� ������ �������	�� ��� 4��	�	��� ∋������
������&+�� 	�� ���� ��� >��������� ,��� ������� 	�
����
��
���� �� 	�� ���	���/	�� 	��� ����	����
����� �� ����� ����� ������ ����� 
��� ���	� ���� 	�� �	�������� ,��� ������ �������	���� 6Γ5�
�����	��� ���� 2Β=ΧΧ∗�22� �� �� 2∃ΧΧ2ΒΧ�%2� ϑ�� ,�	������� ��	
����	� ����	���� !�� ������ Χ=�
������ ���� 
��� ����������	� 	� ������	1	����� ��	� ������ ���������	�	� ��� �	� ������� ��	�	�
������	���	��6���=∗∗���	����������������5	�������	��������!��������	�������	�5��	�����	�
�	� ∀���	� ���� 5	�� (������ ,	� �������	� ���	�� ���&� ����	�	� ���� �	� ����	���� �������	�
�������	�������	�����	�1	������	������������	��
��
�����	�����������������
�
,	���
Ε����	� ������	����� ������	������� ���
���	�	� �	�∀���	�����5	��(����������1	�	��
��������� 	����� ����	���	�� ∋������� ���� ���
������Θ������ �	���(8+�� �������	����	��� ��� ���������
����&����������������	����∋������	�����	������
�	������Θ�������	���(8+�����������	����
���������������	���������4��	/	�∋���	�������
�	������Θ�������������������������������Θ�������	���
(8+��
���!������	�	��!���������������	�	��>��	������������������������������������������
�	����������
�������	������������/�������	���	���������������������Θ�������	���(8���
�



���������	�
����
���	�����	���������
�	���������
�	����
����������
�
����	������
����
�����	�������	����
�
���
����	��������
��
��

���	�

 

 134 

,�����	���������������������&� 	����	���������	������	����������������	�����������������
��������� ����&� ����� �����	�� ���� 8 	���7� ���� ���� ��� >�	�1	�� ��	
����� ��������� �� 	��
��������	��%� �������������∃���� ����
�	��� ���� ������:����	� ∋�:#Β���:∃∗���:∃Χ���:ΧΧ���:
#92����:#Β∗+���)��������	�������	��∋�:Χ∗����:#ΧΒ+�∋≅�����������������������	+���
�
,����	�	�������	����	��
��
����∋�5∀+�����	��������������������������������:#92����:∃∗��
���������	������	���:#ΧΒ������������	
����	�����	�������������	���	��	�
����	�������	���
�������
������Θ������	������������
�	������Θ�������	���(8���
�
�	�	�����(��	�	�	�7���Φ�=)=∗∴:2∗�������������	Φ��	��	��	����	�	�	�)��������2))Β:2#ΒΧ�
�	���(8���
�
∆�<�6 �∃	�
��
���	�
����������	
��
��Β��
�����

�
��

�
��������������&����������	��������	������	������	����#Β�����������������	��	���������
�	���
#Χ� ��������� ���� ��� ����.� ∋%Β�=Υ+� �� ���!�� )� ���	�� ����� ������ 
�	���� ,��� 	������ �� ����
��	����������������������∃%�2Υ�����	������	�∋��������∃Β���Χ∗+���
�

���∀∃11��#∃��+�∀�
.&�∃��

Ε�����
��	����� ∀�	
��

∀�	
��


	���

∀�	
��
=���
≅��� ����	�

���	�� )� 2� 2� �� #∗�∋=)�∃Υ+�

/��������������	�� �� �� #� �� #�∋)�)ΧΥ+�

��
���� �� �� #� �� #�∋)�)ΧΥ+�

/�����������	�
���� �� #� �� �� #�∋)�)ΧΥ+�

/�����	�
���� �� �� #� )� 9�∋#=�Χ%Υ+�

/�����������	�
��
��� �� #� �� �� #�∋)�)ΧΥ+�

/���

��� �� #� �� �� #�∋)�)ΧΥ+�

���	���	�
��
�� �� #� �� �� #�∋)�)ΧΥ+�

�&����
)�

∋#∗�=Υ+�
%�

∋2)�)Υ+�
Χ�

∋9∃�%Υ+�
)�

∋#∗�=Υ+� #Β�∋#∗∗Υ+�
�
�����∃5��3��
����
���������2�
�∗�
�����

��������∗��+��������∗����%�
�

�
�
�
�
�
�
�
�
�
�
�
�
�
�
�����0���;�&��������������
���������

���∗��+��������∗������∗��������
�

�
∆�<�8 ∃	����≅������		���
����>�
��	���	��

�
ϑ��!�� �� 	�� ��������	�� )� 	������ ��� 
�	��� ������&� ���������� ���� �	���.� �����.��
����
�����
�
�

REPRESENTACIÓ MATÈRIES PRIMERES

2

8

7

2

0

1

2

3

4

5

6

7

8

9

Quars f ilonià Sílex Sílex melat Sílex bandejat



���������	�
����
���	�����	���������
�	���������
�	����
����������
�
����	������
����
�����	�������	����
�
���
����	��������
��
��

���	�

 

 135 

∆�<�< �∃	����≅������		���
����>�
���	−	�����
��
�
������������	��	���������.����������.��	�����������	�������	����	
��������	��������	������
−����������	����������.����	����
�
∆�<�<�6 ��
�����	
��

�
,	��	����	�������	�������/	�	�!���������.����	��������������������������.�����������	������
�	��	���.	� ����������� ,��� �	�	��������
��������������
���� ��� ���� 	������ ����������� �	�
������/	�����������������������	����	������ �	����� ���������	����������� �������∋9+��	�.	�	���
∋)+��������	���∋)+�����	�����������������∋#+��,�������������������	���	�	���.��������	������
	���)����!�����	�������	�����������	�����
���.����������)��	�����∀���������	������	��
��������	����	������9Β�����,����������������	�	��������	���������������!��)9�∃����.�
#)�)����.�Χ������
�
∆�<�<�8 ∃	���������
��	�
������

�
����������������&���������&����������	������∃����������∋#��&���	��#���	���������.��	�����
�	�����	)=��#���	���������.��	������&���	����������	�����������&�����+��������&������
���	���������������.����	��∋����&���#∗���−���)���9+�������	������������������.��	����	��∋���
�&���#∗���−���2+��0����������	������	���	���∋)+����������∋#+������������������������	�������
��	��/�Η�	���� �.������ ��� ��� �	��� ]���	����� ��	� �&���	� �������	� �
���.� ��	�������
����	���∋����&���#∗���−���#+��,����������������������&���������������������	������%∗���
#∗∗������������������������������	�����������	����������	��������	
���������	������
����&���	�∋����&���#∗���−���#+�
����������	�∃2���������	��	�	���
�
∆�<�<�< �∃	�����	���

�
8	������	�	���	���������	��������	������������������������������&�������������.�����������
∋����&���#∗���−���#+��Σ����	�	���	�
����������	����	�������	���	��������	�����������������
�	��	�������	�����������	���������	���	�	����	������������������	��	������.��	���,	����	����
	����	�� ������ �	� ��	�	����	� ��� ���������� �� �	� ����������� ��� �	��	� !�� ��� ∃∗∆�� Γ��� �� �	�
����	���	� ��	
����	� �	�	�� ��������	� 	�������	�� 
��� !�� ��� ��������� ����	� �	��� ����
����!������	��	�
����������	�������	���������	��������	���.��
�
∆�<�? �∃	������
������
���		��

�
,	� �����	� !�� ����� �����	� ���� ���� �	����� ���������	������ ������
��
����� 5	���	�� 	�.
��
������ ����� ��	����� 	��� �	������	� 	�	���/	�	�� 
��� ��	� �	��� ����� ���������� 	������� 	�
��	�����	���������	����������	�	�	��� ��
�����	�������������������	���	�������	��	���	��
�	������� �	���.�� ��� 	
����� �������� �	�� ����	�	�� �	� ��������	� ����� ��	������ ��� ������
�	����	��
��������	�����������	��	������	�����������	���.���	�	�∋����&���#∗���−���#+��
�
∆�<�� ∃	��
�������
��������

�
����∃�������������	������	�����������������.�∋#�������	���	���=��������&���	+�������������
�������!�� ���������	�� !�� ��� ���������������	���	�	���.���� ������ ��	������� ∋��� �&���#∗��
�−��� 2+�� 
��� ��������	� ��	� �&���	� �����	�	� 	����	�	� �� ��� ����� ������ ��	� 	���	��
,�	������������������!���	��	��������
������	���������������	����	������������������������
��� �	�� ∋��� �&��� #∗�� �−��� 2+�� ��� ����� �����
�����!�� ���������	�� !�� ��� ��� ���� �&������
�����	������
�
:∀5:#92:#:#=Χ��Γ����Φ�����	����>�	����������	������&���	��������.��	����	�������	�	����
����	� ���	���	�� ������� �� ���.��	�� ���	��	�� ����	��� ��� ����	���� >�����	� ��� �����Φ�
������∴∀�����∋����&���#∗���−���2+���

                                                 
)=�����	�	�������	�#∗�����



���������	�
����
���	�����	���������
�	���������
�	����
����������
�
����	������
����
�����	�������	����
�
���
����	��������
��
��

���	�

 

 136 

:∀5:#92:):99�� Γ����Φ� 	���	� ������ �	����	��� >�	������ ���.��	�� ��	���	� ��� ����.� 	���
�������	����	���	���	��������>�����	���������Φ�∀������
�
:∀5:#92:9:#∗=�� Γ����Φ� �&���	� ������ �	����	��� >�	������ ����	�� ��� �&���	� ��� ����.�
���	�������	�	��	����	�����	��	��������>�����	���������Φ�∀�����∋����&���#∗���−���9+��
�
:∀5:#92:9:Β%�� Γ����Φ� ����� ������ 	���	�� ����	� ������	� 	��� ���� ����� ��� ����� ������ ���
�	����>�����	���������Φ�(�����
:∀5:∃Χ:2:#Χ∗�� Γ����Φ� �&���	� ����� ������Ι��	�� >�	������ ����	�� ��� �&���	� ��� ����.�
�	����	��	������������������������>�����	���������Φ�∀������
�
:∀5:∃Χ:2:=Χ�� Γ����Φ� �&���	� ������ �	����	��� >�	������ ����	�Ι���.��	�� ��� �&���	� ���
����.�	����������	����	��������>�����	���������Φ�∀������
�
∆�? 1∃/�∃9!&�∀� )∃�∃1��∀� ∀&.1∃� ��� !�#Λ∀�1!�� �∗�!%�� #∃�� �∃&�∗�!%�

+!�∋ �
�
∆�?�6 ��
��
��Β��
�����

�
��
��
	��≅���

��������=�����

�
∀��� ��
���� ���� ������������ ������	���� ��� ���� 
�	��� ��������� ���� ���� ���������	������
������ �	� ������� ��� ���� �����������	������� ����	������� ���� �	��������� &���	��� ���� �����
�	��������������	����������	�������������	�����������	����������	�������Χ������������	�
(
���	�5	�������∋;��	�	��)∗∗9���&���9∗���=#+���

�

�����0���3��
����
���������2�
�∗�
�����

��������∗��+������∗��������
�6���∗�
���
�2#&.������
�

,	� ���������� �����	� �	��	�	� ���� ��������� ����&� �	� �������	�� ��� �	� ���	� �	���� �	���� 	�
���.����	�����������������	����	����������.������������
�	����	������	�	���������.����	���
,�����
�������	����������
�	���������&������
�	��� �	��������������������	����	�	�����	���
���
� ��� 	����� �	������� ���� 8	� ��Ο�	� � �	� ���	� ���������	���� �����	� ��� 9∗Υ� ��� �	�
�����	���
������������������������	�����	�����������	���	�����������	��	�	
����	����	�
	�����������	���.���������	����	��	����	����	�
�	���	��∋��������Χ#+��
�
6�� ���� 
��� �	�� ����	�	�� !�� �	� ��&����	� ���	�	������ ��� �	������	� 	�	���/	�	� ���� �	����
���������� ��� �	� ����	�7	� ��� 5�����Η��� �
����� ���� ��� �	� �	���� ��� ���� �	�������� ���
����:���� ��� 8	�	���7	� ∋8	� ��Ο�	� � �� �	� ∀���	� ���� 5	�� (����+� �� ��� ���� ��� ���� /�����
��������	��� �����	��� ∋�	� ∀�����	� �� �	� (
���	� 5	������+�� ϑ��!��  ��� ��������	�� )�
���������� ���	
����� ��������� ���	�
��������������−������� ������	�� ��� �	�����������
�����	�∋��������Χ#+��
�
������ �����	����	����������.���.������������	��� �����������	�� �	��	����
��	� ���������.�
�	����	���8����	� ���������	����������������	����������������������	���	�������	�
������	���������	���������������	�	���������������	���	
���������
�����5	���	��	�.
�� ���
��	����	������	� ��
�����
����������������	��	����
��	������������	�
������������	���

�
Ε(�1∀�
Φ!��∗�

Ε(�1∀�
/!�&�! � ∀∗�∃9�

∀9��
+∃���� %��%∃#Μ�!��

∀9��
.��#∃∋��� ∋�∀�!� ���1∃∀� �&����

%��
��!∀�%Φ�

)=�
∋∃�92Υ+�

Β∃�
∋)2�9Υ+�

#%#�
∋2∃Υ+�

==�
∋#9�Β=Υ+� 9#�∋Χ�ΒΥ+� =�∋#�)∃Υ+�

#�
∋∗�)=Υ+� �

9Β2�
∋#∗∗Υ+�

���
∀∃11∃��� � ∃�∋Χ�ΧΥ+�

∃)�
∋Χ%�=Υ+�

9�
∋9�Χ=Υ+� 9�∋9�Χ=Υ+� 9�∋9�Χ=Υ+�

#�
∋#�9Υ+�

#�
∋#�)=Υ+�

ΧΒ�
∋#∗∗Υ+�

���.Μ.!���
+�#(1∃��� �

2�
∋)�=9Υ+�

2)�
∋)∃�=Υ+�

#∗Χ�
∋∃Χ�Χ)Υ+� � � �

=�
∋9�)=Υ+�

#=%�
∋#∗∗Υ+�

���∀∃11��
#∃��+�∀�
.&�∃�� � �

%�
∋2)�#Υ+�

Χ�
∋9∃�ΒΥ+� � )�∋#∗�=Υ+� �

)�
∋#∗�=Υ+�

#Β�
∋#∗∗Υ+�

�&����
)=�

∋9�%=Υ+�
#∗∃�

∋#∃�2Υ+�
)Β9�

∋2=Υ+�
#Χ)�

∋)∃�2∃Υ+� 92�∋=�)9Υ+� #∗�∋#�=9Υ+�
)�

∋∗�9Υ+�
%�

∋#�)9Υ+�
∃=∗�

∋#∗∗Υ+�



���������	�
����
���	�����	���������
�	���������
�	����
����������
�
����	������
����
�����	�������	����
�
���
����	��������
��
��

���	�

 

 137 

���8	�	���7	���
��������������.��	����	��!����	��������	����������	�����	��������	�����	����
��������
�
∆�?�6�6 ����>Ν
���Χ��
	���	
��

	������
	�������

����Β�
���
�
5	���	�� ��−�� �����	���/	�� ���� ������ 
%����������� �	� ���	� ���������� 	���	������ ��� �	�
��	�����	��������������������������	����	��	����	����	������	�����	�������	��������������
������	�����������	�&�������	���−����∋5������#ΒΒ9<�;��	�	��)∗∗9+���
���������	������������������������������.����	��
���������	���/	�	�8	�	���7	�	�����:����
��	�����∋,!	��)∗∗=<�4	
���� ��,!	��)∗##+��,�	�����	������������������.��������	��� ������
����.�� ���	��� ���	���/	��� 	� ���� ������� ���� ��������� ����&� �	�	�&� �� 	�� ���	����	�� ���
��	�&������	�����
���	�∋	������	��������	�+��������	�����	�����	�������
���	�������������
�
������ 	��� ���� ����.�� ��	�������� �
����	� ���������	���� ��� �	� ������ �������� ���� 	�
���������	�� 	���� 
��� ���� ����	�	������ �	�������
��
���� ��� ���� ���������� ,	� �	���.	�
�������� ��� �
������ �	� ������ ���	���/	�� ��� ����	������ ����
��
���� ����� 	����7	�����
��	���	��	��	�� �����	�	������ 	��������	���������	����������	�
�������������������������
��������	���� 
��� �����	����.��� ���� ���� ��	�����	���� ������ ���� ����.�� ���	��� 
���
	�	���.���	�8	�	���7	����������������������.��������	���	�>�	�1	��Γ�����
���	���	������
��� ��������� ��	�	����
���� ������������ 
���  �� ������� ��������	��� ��� ����	����� ���
	��������	�����������	�������1	����������.����	��
��������������	�	�8	�	���7	��
�
6��	�����	��������
����� 	�����	������ ���	����	�� �	�����������	� ��	����	���������.�
���	��!���	������������������������������	��	�
�����	��������	�	
������������������.���	���
	��� �	�������� ��	������� ���� 	��� �	�	�	���� ���� �	������ 	�7��� �� 	�� ���� ���������
�������������� 	�
����
��
���� ��� �	������ ��� ����.� �����)∃�� ��� 
��� �� 	� ������
�	�	������/	�����������������!������	��	�	�����	��	����	��	���������������������	��	��	����
����	��	����	��� �����	��	���������������&�������Σ������	�������	����������∀	���:5	�����
∋5	�	������� 4	������+�� ��� �� 	� ������ ��������	�� ��	� ��	�� 
�	����	�� ��� �������
���	����	����	����	����������������	��	���	��	�������.�������&�	�����	��	�������������
���	
������	������������	����	���/	����	����������	������������������	�	�������	��	��
������	������������.�∋4	
������,!	��)∗##���&���)Χ=:)Χ∃+��
�
,����������������.�������	�����:������	������� 	���	��	������	�1	������������������
�����
���
����
���� ∋(�����(������ ��;�	��/���)∗∗∗+� ���	�������
��
���� ∋(	�������#ΒΒ∃+��
���
 	�� ������� ���� ������������ ��� ������ ��� ����.�� ���	��� ������	��� ���� ����	��� ����������
����	������� ���� 	�&������ ���
����
���� �������� 	�	�� �	�� 	� �	� ���������	���� ���
�����
���� 
��� ��������� ��������	�� ���� ��������� ��	���� �� ���� ������� �	���� ∋��
���
��������� ���	�����������
��� ��	�������

� 
������������� ,�Ο805∀+� ∋5	��	���� )∗∗2��
�&���Β%:ΒΒ+��,�	�&�������� ���� ������� �	���������	�������:�������������	����	���	������
�����
���������������	�����������	����	���������	�����
�
������� 	�������	������ 
��� ������ ������� 	� �	�  ��
����� ���� �����Η����� ������1	�� ����
����.����	��	�8	�	���7	����� �	� ���	���/	������&�������������Η������������.������� �����
�	������ ���� ���� �	��������� 	� �	� 0�����1	�� ������� 
��� 	� 8	�	���7	� �	� ���	� ��������	�
���!�� ��� �����	�	� ��� ����	� ��	������ ���������� �� ��� ����	� ����� �����&���	� ��� ���
��������������	���	��∋;��	�	��)∗∗9���&���∃=+��
�
6�	��������
Ε���������!�����	���	�!����	�����	����������	��
����.�����.��������������.�
���	�� �� ���� ������������ �����&����� ����� ������ ��� ���������� ��� ����	� ∋5	������ #ΒΒ)	<�
;��	�	��)∗∗9�+������������	����������������	�������������������������&��	�	�&�∋Γ	��−�����
�����#ΒΒ)<�5������#ΒΒ9+�����������	���	�8	�	���7	�������������������&������	�>�	�1	������
� 	���&� ��������	��� �	� ���������� ��� �&������ ��� ����.� ���	�� ������	� ���� ��� �
�����
���������∋(�������#ΒΒ#���&���)∃#<�5	������#ΒΒ)	<�,!	��)∗∗=+���
�

                                                 
)∃�������!���	��������	���������	�������������.����	���



���������	�
����
���	�����	���������
�	���������
�	����
����������
�
����	������
����
�����	�������	����
�
���
����	��������
��
��

���	�

 

 138 

5	���	�� 	
����� ����	���� ��������&���	� �	��	�� ���� 	� ��������� ���� ��������� ����&� 	�
8	�	���7	�������.	�.����������	���������	������	���
�����������������������	��	������
�������������	������
��������������������	������������	��	���	�	�����	����������������
������	���������� ����� ���� �
����� ��������������� ����	���.� ��������� ���	� ����	� ����.�
���	��� Σ�� ����.� ���	�� ���� ��� ����.� 
��� !�� ��� ������ �	���� ���� �� ��� ���	� ��	����	� ��
�.�����.��� �	��	������ ∋������� ��������� 	��� ����.�� ������	��� ��� �	� 0�����1	+⊥�∀	����

��� ��� ��� �	���.� ������ ��� ����.� ������ 	�	���.��� /����� ��� �����	������ ����������
∋(�������)∗∗)���&���Χ#+��
����	�����������������	���	��	����������������
�
�����	��	������������ 	����	��&����	�������������	������������−��������	�	�	��������
��������� ����&� ∋Γ���	�	�� �� ;��	�	�� )∗∗#� �� )∗∗)� <� ;��	�	�� )∗∗9<� (�������� )∗∗Β+� �� ����
� 	���	������	�������∋,!	��)∗∗=+��������
����	����	���������	������	���������	�:����
	����7��	�8	�	���7	�������������������	�����	�∀	���0	������8	���∋(�������)∗∗%�+���	��	�
∀�����	��	������	��	����	��	�	��������������	�������
�
;����	������� �	� ���������	���� 
��� �� 	� ���� ��� ���	���� 	��� ����������� ���� ��	��	�����
�������!��������	���	�
�	���	������	����	������	�������������	��������������	��	��	���	��
	��� �����
���� ��� �	��	� ����������� ���� 	�	��	����� ���� ��	��	����� ������� 
��� ����
����
����� 	������.��� ���� �	� ��������� ��� �	� ���1	� ������&��	� ���� �	����	�� �	� ���	��
��	�����������������������	��	��	����	�����������	��������������������������	�����������!��
��	�� ∋Γ���	�	�� �� ;��	�	�� )∗∗#� �� )∗∗)+�� 5	���	�� ���� 	�	��	����� 
��� 	����	� ���
��	��	����� ������� ���� 	� �	� �	��	�� �	� 
�	���	�� ���� ����.� ���	�� ��������	� ���������	��
������������	��	��	���	������	�1	����	�������	����������������������������������	���	���
�����	����	��	�	���
���������������	�����������	����������� 	��.����	���������������	����
������	�����	�
�	���	����������.����������.����	�������	��	���������.������∋(��������������
#ΒΒ∗<� ;	������ #ΒΒ∃<� ,!	�� #ΒΒΧ<� (������� #ΒΒ%<� Γ���	�	�� �� ;��	�	�� )∗∗#� �� )∗∗)<�
Γ���	�	����;��	�	��)∗∗)+��
�
0���������������������������	�����	���������	����������	��	���������������&����	��������
����������	������� 	�����	�������������	�������������	������	�������������������	�����	���
�	������	�����������/������	���������������Γ	��!� 	����	������	������	���������
���
 	������1	���	���	��������������	����������.����	����	���������	�����	�����������	���	������
����.��	��	�������������������
�
,	���	����������	���������	������	��	��������������������	���	�����	��Φ�
�
:8	�������������	�����,	������	��������	��	����	���������	���	�����������������
���������
���.����	������������������ ��	��������&�����	����.��	����������������������������	��	�����
���������	����������������	�)∗∗:9∗∗∆8�∋Γ���	�	����;��	�	��)∗∗#���&���92+�
�
:,��Η�����������������������∀���������
��������������	�������������.��	�������������������
��������������������������������������	����	��	��������������������	������������������
	������� ������� �� ����� 
��� �����	��	� 	��� ���� ������������ ��� �	��	���� 
��� ���������� ���
	��������	��∋Γ���	�	����;��	�	��)∗∗#���&���92+���
�
:>�	�������� ∀���������� 	� �	��	� ��� �	����� ����	��� ��� ������	���	� �� �!� ���� ���
������.��������������	������	����−��������������	����� ��	����	�����	����	��,	���������	�
��	
������� 	����	������ ��� ���� ���� ��� ������ ��	��
���
���� ����� ��	��	����� �������
��������	���5	���	��	�.
����	� ������	� �������	� ����	������	������������������� �	��	�����
����������������	�����������	������� 	����	��������	��������	����������������������!�����
��	��	��������!������	��	���	��∋Γ���	�	����;��	�	��)∗∗#���&���9=+���
�
∆�?�8 �
��
��Β��
�����

�
��
��
	��≅���

��������=�������
��
	�����
������
�
0��� �	����� ��������	��������!���������	���� ��������	�������������������� �����	�������
����������������������������&�� ���������	�����	�	�������������� �	���������� &���	�� ��
�����	�������������	�����,������������������	����� �� ������	�	���������	�����	�������



���������	�
����
���	�����	���������
�	���������
�	����
����������
�
����	������
����
�����	�������	����
�
���
����	��������
��
��

���	�

 

 139 

�	���� ������	���� �� ��� �����	Φ� �	� (
���	�5	������� ∋∀	���Ρ���/�� ���� 4	������ ��� 4	�����
3�������	�+�� 8	��� ��� 8	�� ;�	�� ∋�	� ≅��	� ���� 4	������ ��� 4	����� 3�������	�+� ∋;��	�	��
)∗∗9+��5��������;	�&:>��������∋;	�&�����(	�.�,������	�+�∋(��������)∗∗Β+���8	��;	��−��
Ο�∋∀	�	���������4	�����3�������	�+�∋≅������������)∗#∗<�;��	�	���Γ���	�	�����������	+��
�
������������������	�	����
������������!����	������	��	����!�	������	������
�������	����
�������
�	��� �	��������
�	���������&�������	���������	��.����	������&����	������.������	�
��� ��������� �	����	��� ��� ����.� ∋������ ���� 
�	���  ��  	� ��� ���	�+� �� �	� ��������	� ���
��������	�	� ��� ���� �����.���� �����	����� ,��� �	������� ����	���� ��� �	� ���������� ���
�	����	��� ��	����	�7	����� �����	��� ���� ��
���� 	����� ���� 	� �	� ���������	���� ���
������������	��	��	���	������	��������
��������	��	���������������������	������������
�	�������� �� &���	�� ��� ��������	� �	��!� ��−�� ��� ���� ��
���� ���	���� 
��� ��� ������	�
��&����	������������	��	��	��	���	������∋��������Χ)+���
�

�� Φ .!���� �∃%1Μ�&�!∀� �� ��

��

.Μ.!���
+��

/&∀∀∃∀�
%��

��!∀�%Φ�
���

∀∃11∃���

���
∀∃11��
#∃��
+�∀�
.&�∃��

.Μ.!���
+�#(1∃���
�∃%1Μ�&�!∀�

%�+∗�
#∃�
∀����
)1�(�

+!�∃∀�#∃�
)�Γ ��

/∃11∃1∃∀�

%���
)�+.Λ∀�

!� �&����
Ε(�1∀�
Φ!��∗� ��

)=�
∋∃�92Υ+� �� �� �� �� �� �� )=�∋)Υ+�

Ε(�1∀�
/!�&�! �

2�
∋)�=9Υ+�

Β∃�
∋)2�9Υ+� ∃�∋Χ�ΧΥ+� �� =�∋#�ΧΥ+�

)�
∋9�9Υ+� �� ��

##9�
∋Β�)=Υ+�

∀∗�∃9�
2)�

∋)∃�=Υ+�
)#Χ�

∋=#Υ+� ∃%�∋%∃Υ+�
#∗�

∋=%�%Υ+� #∗∃�∋9=�%#Υ+�
9Χ�

∋∃∗�ΧΥ+� )�∋%�9Υ+�
)=�

∋#)Υ+�
=∗Χ�

∋2#�Υ+�

∀∗�∃9�
+∃����

#∗Χ�
∋∃Χ�Χ)Υ+�

==�
∋#9�Β=Υ+�

9�
∋9�Χ=Υ+�

Χ�
∋9∃�ΒΥ+� #%)�∋∃#�=Υ+�

))�
∋9∃Υ+�

)#�
∋%Χ�=Υ+�

#Χ∃�
∋%ΧΥ+�

=Χ9�
∋2∃�=Υ+�

∋�∀�!� �� #�∋#�9Υ+� #�∋#�9Υ+� �� #�∋∗�99Υ+� �� �� �� 9�∋∗�)2Υ+�

&.∀!#!���� �� �� �� �� )�∋∗�∃∃+� �� #�∋2�)Υ+� #�∋∗�=Υ+� 2�∋∗�9)Υ+�

���1∃∀�
=�

∋9�)=Υ+� ��
#�

∋#�)=Υ+�
)�

∋#∗�=Υ+� �� �� �� #∋∗�=Υ+� Β�∋∗�ΧΥ+�

�&����
#=%�

∋#)�%Υ+�
9Β2�

∋9)Υ+�
ΧΒ�

∋∃�2Υ+�
#Β�

∋#�=Υ+� )Β∃�∋)2Υ+�
∃#�

∋2�ΒΥ+� )2�∋#�ΒΥ+�
)∗9�

∋#∃�=Υ+�
#))2�

∋#∗∗Υ+�

�
�����0 ��3��
������������
���������∗��+��������∗���������6���∗�
����2#&.�������

���>��
������
����
����������/
��%��2�
�������
�������
�������������������������
/����%�
���������
�∗�
����
�

,	���������	���������.����	��!��������	��������� �	���������� &���	��������	���� ���� ��
���
�������  �� !�� ��������� ����	�	� �	� ��	�� ��������	� ��	
����	� ���	� ��� ���� ������� ��� �	�
(
���	� 5	�������� 	��� ��&����	����� ��� Χ∗Υ� ���� ��������� ������� 
��� 	��� 	������
	�����	������!����������
�
�������	����������8	���Ο�	� �� �� 	���	��	����	���!����	�������
�������������.���	��	�������
����.����	�����������	����)∗Υ����������.���	��	�������	��	����
��	�����##Υ���������	������
 &���	�����������	����	������	�	�	���/	�	���������.����	�� ��!�������������������
�
�����������
��������	�������������������.����	��!��������!��	��	���	����	�	������	����������
�����	������.����������������8	������∀	���;�	������∃∗Υ��������������	��	���������5��������
;	�&� :� >�������� �� 8	�� ;	��−�� Ο�� ��&����	����� ������� ���� ��������� ������� �	��	���
����	�������������.����	���Σ����������
��� �� 	���	����	�������	������������������������.�
���	��
��������������������	�	�.��	��������	�����
�

6�� �	�� ������	�� !�� ��� 
��� �����������	� ���� ������� ��� �	� (
���	�5	�������� ��� ��� ����.�
���	�� ��!���������������∋Χ∗Υ+����������������������	
����	�����	�����������	���	��	�	�
���� �����.�� ��� ��� ���	���/��� ���� �������� ��� ��� �	��� ����� ������.� 	�
����
���� ��� 
���
�� &���	���������	�����	���	������
������������	�����	�(
���	�5	����������	�������	��������



���������	�
����
���	�����	���������
�	���������
�	����
����������
�
����	������
����
�����	�������	����
�
���
����	��������
��
��

���	�

 

 140 


��� �	� ��������	��� ����8	��;	��−�� Ο� �� ΟΟ�� �
����� ��	�� ����	�� �� ����
������� 	���	� �	�
���	� ��������	���� ��� ��� ����������� �����	� �������	�� ���� ��� ��	�� ������� ��������� ���
�	����������������	�Θ�
�������������������.����	�����	��	������	��������	���������Η�������
�������������	�����
�
0���
����	�	���������	�	��	�����
�	����
������������	��	������	�Χ)��#�	�8	��;	��−��Ο<�
#�	�����5��������;	�&�:�>�����������)�	��	�(
���	�5	�����������
������� ���������	�����
������ ������ ����	� ����	� ��� �	� (
���	� 0	���� ∋≅��������� ��� 4	����� 3�������	�+� ∋≅������ ��
,�������	��� #Β∃9+� �� ��� ��	������ ��� �&���	� ���	���/	�	� 	� �	� ����	� ��� �	� ∀�����	�
∋4��	��	��	�����0��������������0������+�∋;��	�	���Γ���	�	�����������	<�������������������
�����	+�� ,	� ����������	� �!�� ����	���� ��	
����	� ���	�� �	� ����	����� 	� ������� ��� �	�
5�������&��	�∋∀	����7	��0	�������	��,��	�����0	��	���	+��
�
,�−���	� ��������	���� ��� ��������� ��� ��������	�	� 
��� �.�����.� 	���	������ 	����	� 
���
��������	�	� ��� �	� ���	� %9� ∋5����� ��� ;	�&� :� >�������+� ����!� ��� �	� ����� ∀	����7	� ��
∋5���������+�∋(��� ���������)∗∗Β���&���#9=+��∀�������	�	
������	����	��������� 	����������
����	��������
����
����	��!������&��������	���������
�������.
�����	��	����	��	�����	�
��� �	� ���	� %9�� 
��� �������	�	� ��� 	��	��	����� ������	�� ��� �����������	� �� ��� 	�.��	��
�����	������	��	����∋(��� ���������)∗∗Β���&���#9Χ+���
�
∆�?�< ∃	������
������
���		��
��
	��≅���

��������=�������
��
	�����
�������

�
,	����������	�����������������������	��	����	�����������	���������������������	�
��� ���
	�	���/	��� ��� 
��� ���� ��������� ������� ���� �	�������� �� &���	�� ���� ������	���� ϑ��!�� 8	�
��Ο�	� � ������� �������� ��	� ������ ������	� ��� ���� ���������� ������������ 
��� ��� ������
���	���/	���������	���.��	�����������������������������
��������	��	����������	����
�

,	� ����������	���� 	��� ���� �	���� �.������� ��� ��	�&����� ������
���	� ����� 	�.��	���
�����	����∋;��	�	��)∗∗9<�;��	�	���Γ���	�	���)∗∗%<�;��	�	���Γ���	�	�����������	<�(��������
)∗∗Β+� ���� ������� �������	�� �	� ���������	���� ������ ���� ���������� ��� �	��	�
���������	���)Χ��
�
∆�?�<�6 ������		�������	
��

�
,	� �	��	���	������������� �	���������� &���	����������	������ �	� ���	�������	����	�������
������������	����������
�	���������&�������
�	��� �	�����������.�������	�����	� �	�����������
�	���	���������
����������.���������	������	��������	����������	�������
�
��� ����!����� �	��	� ���� 
�	��� �	��� �� ���� 
�	��� ������&� ��� �	� ������	����� 	��� ����	���� 0���
�.������� 	� 8	� ��Ο�	� � ��� ���� �������.��� ���� ��� ������������� ������������������ ���
�	��	�������������
�������	�����
�

0�����������	���������Ε�����������������	��	Φ�
�
:Γ	��	����������	���������
����
�	���������&��
�
:Γ	��	����������������
�	���������&��
�
:Γ	��	�������	������������������
�	��� �	����
�
:Γ	��	�������	��	�����	���������
�	��� �	�����
�
�

                                                 
)Χ����	
����� �������	����	�����	���� ��������������� ����������������������������������� �����.�	�	���������4��
≅���������	�(
���	�5	�������
��� ���������	����������	��������������
�



���������	�
����
���	�����	���������
�	���������
�	����
����������
�
����	������
����
�����	�������	����
�
���
����	��������
��
��

���	�

 

 141 

∆�?�<�8 �
��������������	�
������
�
,��������������� �	���	�������	�	������/������� ���.����	����������	�����������������&�����
��� ����.� ��� ��������� �	����	���� ��� �	����� ����	��� ��������� �����
����� ��� 
��� ������� ���
��	��	�������������!���	�������&���	�����	�	�����
�
,��� �&������ 	�	���/	���� ��� ���� �����.���� �� &���	�� 	�	���.��� ��&����	����� �������
��	�����	�����,�����������������������������������	������#∗∗���������	��	�	���
�����
���������	��	�	��������&�������������	����������������.���������	�����
���	�	���.����!��
�����������	������
�������������������������
���������	����∋���Β��	���+�������������
#∗∗�����∀��	�	���/��������	������� �	�(
���	�5	�����������
������� ��������8	������8	��
;�	�� ∋;��	�	�� )∗∗9+� �� ���� ��� ���� 5����� ��� ;	�&� :� >�������� ∋(�������� )∗∗Β+� ���������
���������
Ε�������Φ�
�
∀�������������	�������
��������&������������������#∗∗�����,�����	��	�����&.���������
�������Ε����Φ��
�
:5����� ��� ;	�&� :� >�������� ∋(�������� )∗∗Β+�� ,&���	� 5%9:Β�� 
��� ���� �� 
��� ��� �	��	� ���
��	������	��	��	�������	��������	�����#9)��������&���	�5%=:#%=�∋#)2���+��
�
:8	������8	��;�	���,&���	��2∃:%2�����##)���∋;��	�	��)∗∗)+��
�
:(
���	�5	�����������
�������,&���	�Χ:Χ:Χ����##)����∋;��	�	��)∗∗)+��
�
:�.�����.���	���	���	��	�����	�������	��	������� ���� �&����������������������	������� ����
����
������� ���� 
��� �	��!� ��� ��������	� ��� ���� �	�������� �� &���	��� ,	� ���������	�
�����	���	��
�����������	�	�!���	���������������	��������������������������������������	�
�����������	����������������	�����������������	��������������������	���	������������∋���
����Χ9+��
�

�
�
�
�
�
�
�
�
�
�
�����0−��;�&���������������
���
��


����������
���
&∗�
�����
���������

���
���>��
������
���1�
���;��&�4�
��������%��
�:�∗/����:�
�;������
��
∀>.�
��1�����

��

�
�������� �	����������� �	���	�����8	���Ο�	� �� ��	������� �	�����������	�� 
��� ��  	��� ��	�
��������������	����������	�
������������������������������	����
����	����������	�������
�	��	����� 5	���	�� 	�.
�� �	��!� ���� ���� �����	� 	�� ����!�� ��� ��������� ���������	�� �����
��������.����	�����
�
,��������
��������	��	��	���	����������	�����������������������������������.������ &���	��
��������	������Φ�
�
:0��������� ��������	�� ∀��� �&������ 
��� ���������� �	����� �	���	��� �� �������� ���������
�	��	����� ���	����� �	��	��� �� ���������� ,�	������� ����������	�� !�� �������	�� �� �������
�
����	� ������	� ���&� ���	����	�	� 	��� ���� ��������� ��� ����.�� ���������� �� ��� �� ���
��������	����	��	��������������

LLARGADA LÀMINES NECRÒPOLIS

0

20

40

60

80

100

120

140

LL
A

R
G

A
D

A

MINES DE GAVÀ-FERRERES

CAMÍ DE CAN GRAU.
NEO.MITJÀ

LA BÒBILA NECRÒPOLIS



���������	�
����
���	�����	���������
�	���������
�	����
����������
�
����	������
����
�����	�������	����
�
���
����	��������
��
��

���	�

 

 142 

:0�������� Γ	����� ������� ����� �� ������������ �!�� �������� 
��� ��	���	�	� ��� �	� �&���	��
≅����	���	�� ��� �	� �������� ���	����� �	�	�Θ����� ����� �����	���� ���	����� ���� �	��	��� ��
���������	� ���� ���������� �
����	� ������	� ���&� ���	����	�	� ������	����� 	��� ��� ����.�
���	����	��	��������	����������������������	����	��	����
��	���	��	�	�������	������
�

,��� �	���� �.������� ��� �	� ��������	��	� ∋;��	�	�� )∗∗9<� (�������� )∗∗Β+� ������������ 
����
������ ���� ������������ �	���	��� ��������	���� ��� ���� ������� ∋�	� (
���	� 5	�������
����
����������8	������8	��;�	��������5��������;	�&�:�>�������+���	�������	���������	�	�
!��������� �	� �	��	������������� ��������	��������������.����	���5	���	��	�.
�� �	����	� ����
������	�������!��������������������	�.��	������
���	�	���.����&�������������.�������	��
��
�������������������	�	��������
��������������
����
��������	�����	�����	��	��	��	�����
��������� �
����� !�� ��� �	�� ��� �	�����
������ ���� 8	��� ���8	��;�	��� ��� 	������� �&������
∋5	�����0�����8	��−��#ΒΒΧ���&���#Β∗:#Β#+����������������	������	������������	�����
�
0��������	��������������.������ &���	����.�����.���	���	���	��������	�∋��������������������
��������	+������	�	�	���� �	����������� �	���	��	��� ��−��������������� �������������.������

����	�������	�����	��	��������������������	�����	����	�	�	��������	��	�������������������
�

0���
����	�	��	��	�	������/	��������	���
Ε����	����������������������������	��	�������	����
�������������� �������������� &���	��� ��������� �����	����� �	�
�����&����	��������!�����
����������������������	���	����������������������	��
��������
�
��8	���Ο�	� ���	��	�∀���	�����5	��(����������� 	����������	����������������������	������
�	���������� ����� ������� ∋�&������ ��� �����	�� �	������� ��	���	��� ������ ��	�����+�� ���� 
���
���	����	��	����	�
����	������������	���	����������	����	������	���������
�
�� �	�∀�����	����!���	������	�	����� ��	���������.��	�Ι����	����� �&���	���������	����
����.� ���	�� �� 
��� �������	� ��	� ����������� ������	�	� ������	�	� ���� ��	��	����� ��������
�
��������������	��	�
����	��	��	��	���	�������������������.����	����	��	���������	�����
��������	������������������ &���	�����
����	�����	���������������	��	��!�	���������������
�	�(
���	�5	�����������.�����.��������������������������	�����������������������������.�
���	�� ��� ��� ����!�� ��� �	��	� ���� �	������� ��	���	�� �� 	������ �������� ���	����	��� 	���
����������������	�	�������	����������∋;��	�	�)∗∗9��=2+���
�
5	���	�� 	�.
�� ��� ���� �	�������� �� &���	�� ������	��� 	�	���.��� ��� ������� ������	���
��	������ ��� ���������� �	����	��� ��� ����.�� ������	������ ���������� 	�� �	������� ��� 8	�
��Ο�	� �������	������ ����������	������	� ∋������#∗���� ��)=���+� �� 	�����������	����
�
���.�
�����������	����#ΧΥ������������.������#)Υ�����������.����	�����������������������
�	� ��������	� ������	��� ��	������ ��� 	
����� 	�����	����� ���� ���	�� ���	����	�	� 	��� ���
��	������	������&.����������	���������&������
���	�������	������	��������	��	��	��	���������
��������������
��������������	����	����	����	�������	����
����	�������	�����������������
��������	��	��������������	�	�	���������	��������&�������������	��!�	����	�������������������
�	����	����������.������������
�	����������.����	������	���������	�������&���	�����	�	������
�
∆�?�<�< �∃	�����	���

�
��������	���������� &���	�������� 	��������	���	���������	���	���������!������������������
��	������/	����� ���� 
��� �����	� ���� ���������	������ ������ ���� �������� ��� �	��	�
����������	���� 5	���	�� 	�.
�� �	� �������	� ��������	� ��� ������� �����&����� ��� ����.�
∋�����	���������	�+���������.���������	��������	����	���	���	��
�	����	����������	����

�������	���	�	��������������������������� �	��	�
����������������	����	��� �	��������
�� &���	��∋��������Χ2+���
�
�
�
�
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,�	�&���������	���������	��	��.�������∋≅�������,�������	���#Β∃9<�5	�����0�����8	��−���#ΒΒΧ<�
;��	�	��)∗∗9<�Γ���	�	����;��	�	��)∗∗)��)∗∗9���)∗∗%����������	<�(��������)∗∗Β+������������

��������	��� �����������	��������������������
��� ������� ��� �	� ����
������ ��� �	� (
���	�
5	������� ���� ������� �������� ��	� ������
�����	�� ����� �������� ��� �	��	� �� ��� ����
�����
��������	������
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�
�
�
�
�
�
�
�����0���Ε��
������
������������
�����
��
∀>.�
��1�����

��

�
∀��� ������� �����&����� ������	��� 
��� ������ �	� ������� ��� ������ �� �!� ��� 	������� ���� 
���
���������	�&���� ����!�� �������	�	���� ����������	����� 	� �	� ���	��.����	���� �	���	�� �� �	�
���	� ���������	�� 0����� �������	�� �
���.�� ������� ����	���� �� ��� �������	�:����
,��.����	���� �	���	�� ��� �	� ���� ��������� ���� �� 
��� 	������ 	������  	�� ��	����	�� �	�
����������	��
����������!������	���	��!��	�������������������	�∋;��	�	��)∗∗9���&���∃2+��
�
ϑ��!�����	������	�� ����	�	������/	���.��	������������	����	��������������������������	�
�	��	�����	��������	�������������������	�	�������	��
�

���� �������� ��� ������ �	����� ��� ������� ��� ����	� �	��� ���.����	���� �	���	��� ��� ����� ���
���������	��������������!������	��	�!�����	�	���	����������	���������������������������������
�	� �������Η�	�� ��� �	� ���	� �.����	����� ϑ��!��  ��� ��������	�� ��� ������ ��� �	��� �����	��
���.����	���� �	���	�� ��
������	�	���� 	��	� �����	�� �	� ���	��.����	���� �	���	������	� ∋���
�&���#)+�������	��	����������������	�������	�	��	���������	������	�������������� 	�����	�
������ �� 	�	��� ��� ���������	� ��� �	� ��	�	����	� ��� �������� �� ��� �������� ���.��	������� ���
�&��������
�

�����	�&�������������	�������������	����	�������������������������������	�������.����	����
�����������Φ��
�

#� ϑ������ ������ 	���	� ��� ������	��� 0���	�	��������	�1	��� ������ �����	� �� �������	� ��� �	�
��	�	����	����������������	�1	�������������������	�	�������	��,���������������������
����	��	��������	��	��<��������	
����	�����	�	�������&� ���	�	����.��	�����������������
���� 
��� ���������/	� ��� ������ �����	�� ���� ������ �� �����	� �	� ���	� �����	�� ���� ���� �	�
������	��.��	������	���	��∋����&���##+��

�
)� ϑ������������	���	����������	�������������	��,	���������	�������������������������	��	�

�����	��������	������	���������	������	����	�����	�������	��.��	������	���	�����	����
���������������	���	�∋����&���#)+��

�
9� ϑ������ ������ 	���	� ������	��� 8�������	���� ���� ������ ���� ������ 	��� �����	� �� ������

�����	���	��������������	�����������
���.�∋����&���#9+��
�
2� ϑ�������������
����������	���8�������	����������������������������	�1	�����	������	���

�����������	�����������
��� �	�����	�	�����	��	�������	������	��	���	� �	����������	�
	��������	� ���� �
����� ���� �� 
��� ������	����� ����	� ��������� ���� ���������	� ��� �	�
���������������	��	�����	�1	�����	�������	��&���	����	������������	��∋��������Χ=+��

�
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=� ϑ�������������
����������	���8�������	����������������������������	�1	�����	������	���

��	� ��� ������� ������� ������� 
��� ���������� ��	����������	� �����&���	� ����	����	��
�������������	����������	�����������������������������������	������ �������	��� ∋���
�&���#2+���

�
∃� ϑ����� ������	���	� ���
���� ������	��� 0�����������	������� ����������� ��� �	��	�������	��

����	�	�����	�	����������������������������∋����&���#=+�∋;��	�	��)∗∗9���&���∃)+��
�
Χ� ϑ������������
����������	��	�����	�	����������������������	��������	����	������������

����	��	��∀����������	����.��	������������	����ϑ�������	��	�����	������	�����.����	����
�����	������
��������.��	�����������	�����	������	����������������������	������������
����	��	�������������	�������������������	��	��	�
�������	����	���/	�����	����	��������	�
���	� ��	�	����	� ��� ��������� 8����.���� 	���	������� )� �	���� 
��� ���������� �����
��	�	����������������������	���Φ��

�
:ϑ����� ��� �	� (
���	� 5	������� ��� ���������	� �����&���	� ����	����	�� �� �����	� ����	���
��	��	��������	�����∋����&���#∃+��

�
:ϑ������������5��������;	�&�:�>��������������������	��
���	�∋������5%9:)Χ+��ϑ���������
������	�����	
����������� 	����������	��	������������∋(��������)∗∗Β���&���##∗:###+��
�
∆�?�<�? ∃	�� ����
����� �
� ��		�� 	�
������ ����

������ 
�� 
	�� ≅���

����

����=�������
	�����
������
�
�����	���������� &���	�Φ��
�
:∀���.����������	��	�������	������������������������	��∀���.������	��	��������	������,	��	��	�
��������	� ���	� ��� ��	�����	����� ��� 	������� ���� ���������� �	���	��� 	�	�	���� �� �	��!�
	������∋8	���Ο�	� +��
�
:∀���.����	��� �	��	� ������	�� ���� ��������� ��������	����	��� ���	�� ��	��	��� ������	����� ��
	������ ���� ,	� �	��	� ��������	� ���	� ��� ��	�����	����� ��� 	������� ���� ���������� �	���	���
	�	�	���� �� �	��!� 	������ ∋8	� ϑ�Ο�	� �� ,	� ∀���	� ���� 5	�� (����+� �� �!� ��� ��� �����.�� ���
��	�����	�����∋,	�∀�����	�������������	�(
���	�5	������+��
�

:∀���.����	����	��	�	������������������	��������������	�����	�	���	�����	��	��������������
�	�������������������&���	������	������������������
���	��������	��	���	���	�����	�����
∋8	���Ο�	� +��
�
:8	����
��	�� �	��	� ������	�� ���� ��������� ��������	����	��� ���	�� ��	��	��� ������	����� ��
	������ ���� ,	� �	��	� ��������	� ���	� ��� ��	�����	����� ��� 	������� ���� ���������� �	���	���
	�	�	��������������������	����	������∋8	���Ο�	� +��
�
�
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�����	�������������	���Φ�
�
:∀���.� ���	��� �	��	� ������	�� ���� ��������� ;����	������� ��	��	��� ������	������ ,	� �	��	�
��������	������������.������� �	�������� �����	�����������	���������������������	� ������
���������	�
������	���������	���������������������������������.����	������
�
��� 	
������ �������� �	� ��������	���� ��� ������	����� ������ �&������� �� �	��!� ������
�&������ �� �������� ���	����	� 	
����	� 	�������	���� ∋��� ����� Χ9+�� ���� ������	����
��������	��������������Ε����Φ��
�
:%��&����������	�����	�(∃�����	�(
���	�5	�������∋;��	�	��)∗∗9���&���#=%:#=Β+��
�
:9��&������∋5%9:#∗��5%9:##���5%9:)#+��
�
:#��&���	���#��������������5��������;	�&�:�>��������∋(��������)∗∗Β���&���##2+��
�
:#�������	�����	��&���	����8	��;	�����#�∋����	��∃∃%+�∋≅������������)∗#∗���&���%#+�
∋��������Χ∃+��
�
:≅�����	�����������&���������������������	��	���.	�����	�∋�Χ∗���#))���#∃Χ���=#=���
�2ΒΧ����8	��;	��−��Ο�∋≅������������)∗#∗���&���%#+��
�
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�����
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�
�(����������∗�
��
�
!����������Β��������
�%� ���%��&���7�(��

�
������������������	����	��	��������.������ &���	�Ι�����	������������	������������	��	��������
���������� �	���	��� �� 	������� 	������ ��� ������� ����	�� ��� ��������� ����	����� �� 	������
������� ���� ���������	��� ���� ���� �������	��� ����	� 	�.��	���� ������� ����������� ������ ����
���������	��!�����������	��������	�	�.��	����>��	��������������������������������	��	���
���.����	������	��!�����������	��������	������������	����	�7	����������	����
�
:∀���.� ���������� �	��	� ������	�� ���� ��������� ;����	������ ��	��	��� ������	������ ,	� �	��	�

��������	� ��� ��� �����.�� ����� �	�������� �����	����� ���� �������
�������	����	�� 	��� �����.������ &���	�Ι�����	���� �������	������
��� �	��	���� ���� �������� ���������� �	���	���� ������	������� ���
�����������	����������������	�
������	���������	���������������
������������������.����	����∋�������ΧΧ+��
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